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Question Number : 1 Question Id : 97675532603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The series is given, with one term missing. Choose amongst the given responses and complete the series.

HER, JGT, LIV, NKX,?
Options :

1. ¥ PMZ

2. % OMY

3. % PNX

4. % PMX

Question Number : 1 Question Id : 97675532603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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HER, JGT, LIV, NKX,?
Options :

1. ¥ PMZ

2. % OMY

3. % PNX

4, % PMX

Question Number : 2 Question Id : 97675532604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What comes in place of question mark (?) in the following letter series?

EFGHIJ, EFHIIG,?, EFJGHI, EFGHIJ
Options :

1. ¥ EFIJGH

2. % EFIGJH

3. ¥ EFJIGH

4. % EFJIHG

Question Number : 2 Question Id : 97675532604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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EFGHIJ, EFHIG,?, EFJGHI, EFGHIJ
Options :

1. ¥ EFIJGH

2. % EFIGJH

3. ¥ EFJIGH



4. = EFJIHG

Question Number : 3 Question Id : 97675532605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

XUSPNK?
Options :
1.¥1
2.% L
3. M
4. % Q

Question Number : 3 Question Id : 97675532605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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XUSPNK?
Options :
1.¥1
2.% L
3. M
4. % Q

Question Number : 4 Question Id : 97675532606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option such that when its letters are placed from left to right in the series below complete it logically.

a_ b bc_ b babc_
Options :



1. # baacbab
2. ¥ bcabacb
3. % bcbabac
4. % bcbbabe

Question Number : 4 Question Id : 97675532606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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a_ b bc_ b babc_
Options :

1. # baacbab

2. ¥ bcabacb

3. % bcbabac

4. ¥ bcbbabe

Question Number : 5 Question Id : 97675532607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word from the given alternatives.

Disappear : Vanish : : Discount : ?

Options :

1. ¥ Rebate

2. * Stylized
3. % Indifferent
4. # Apathetic

Question Number : 5 Question Id : 97675532607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ gerd!

2. % 3RATHIAD

3. % JGRIH

4, % JURATE

Question Number : 6 Question Id : 97675532608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

YHWK : BSDP :: FQRV : ?
Options :

1. ¥ VKJID

2. % VHQW

3. ¥ UJIE

4. % VJKD

Question Number : 6 Question Id : 97675532608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&u U fadeul @ Trafed 31&RY o1 9o Bifo |
YHWK : BSDP :: FQRV : ?

Options :

1. % VKID

2. % VHQW

3. ¥ UJIE

4. % VJKD



Question Number : 7 Question Id : 97675532609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

DLIP : FNKR : : JROV :?
Options :

1. ¥ LTQX

2. % NVSZ

3. % KSPW

4. * MURY

Question Number : 7 Question Id : 97675532609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T fadeut & @ Traferd 1&RY o1 9o Bifo |
DLIP : FNKR : : JROV :?

Options :

1. ¥ LTQX

2. % NVSZ

3. % KSPW

4. % MURY

Question Number : 8 Question Id : 97675532610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e fopeul § O IEfdd 31&Ri &1 99 P |
FRIDAY: RFDIAY : : MONDAY: ?
Options :

1. * OMNDAY



2. ¥ OMDNYA
3. ¥ OMDNAY
4. % MODNAY

Question Number : 8 Question Id : 97675532610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

FRIDAY: RFDIAY : : MONDAY: ?
Options :

1. ¥ OMNDAY

2. % OMDNYA

3. ¥ OMDNAY

4. ¥ MODNAY

Question Number : 9 Question Id : 97675532611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘Right Angle’ is called ‘Elevation Angle’, ‘Elevation Angle’ is called ‘Depression Angle’, "Depression Angle’ is called ‘Obtuse Angle’ then
while seeing an object below you, which of the following angle is formed?

Options :

1. * Right Angle

2. % Elevation Angle
3. % Obtuse Angle

4. % Depression Angle

Question Number : 9 Question Id : 97675532611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % UGB

2. % IFAA DIUT
3. ¢ 3D BT
4, % 3{THT HIUT

Question Number : 10 Question Id : 97675532612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if the word ‘ENERGY” is coded as 786374 and ‘REAP’ is coded as 1073 then what is the possible code for the word
GREY?

Options :
1. % 7864
2. % 7301
3. % 6874
4. ¥ 7368

Question Number : 10 Question Id : 97675532612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 7864

2. % 7301

3. % 6874

4. ¥ 7368

Question Number : 11 Question Id : 97675532613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, "PHONE" is written as "RJQPG". How is "STAMP" written in that code language?
Options :



1. ¥ UVCOR
2. ® CVCOS
3. ¥ UVDOR
4. % UVCPS

Question Number : 11 Question Id : 97675532613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS FAf3d Fe U &, "PHONE" &1 "RIQPG" eIt ST § | 39 Fe HINT & "STAMP" P! fh ¥ TR ferar s 2
Options :

1. ¥ UVCOR

2. ® CVCOS

3. ¥ UVDOR

4. % UVCPS

Question Number : 12 Question Id : 97675532614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “POLITICS” is coded as “ILOPSCIT” in a certain language, then how will “MONOPOLY” be coded in the same language?
Options :

1. * ONOMPOLY

2. * POLYONOM

3. ¥ ONMOYLOP

4. ¥ ONOMYLOP

Question Number : 12 Question Id : 97675532614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fareht fAf3d e WTWT &, “POLITICS” ®I “ILOPSCIT” & = | fora o 8, T St Foe | &, “MONOPOLY” ®! fhd TR ferar s
Options :

1. ¥ ONOMPOLY

2. ¥ POLYONOM



3. #* ONMOYLOP
4. ¥ ONOMYLOP

Question Number : 13 Question Id : 97675532615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If *5768° means ‘we won the match: ‘6591° means ‘the match was draw’ and ‘7813’ means ‘was we won game: then which digit represents the
word ‘draw’?

Options :
1. % 6
2.%5
3.9
4. % 1

Question Number : 13 Question Id : 97675532615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

zﬂ% '5768' BT HY ‘we won the match' %: 6591° BT 3 “the match was draw’ % 3‘ﬁ? 17813 BT 31 ‘was we won game’ % x| ﬁq T 3D ‘draw’
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Options :

I.* 6

2. %5

3.9

4. % 1

Question Number : 14 Question Id : 97675532616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are six members in a family A, B, C, D, E and F. B is the son of C but C is not mother of B. A and C are married couple. E is the brother of
C and D is the daughter of A. F is the brother of B. How many children A have?

Options :
1. #* 1



2. %2
3.¢3
4. % 4

Question Number : 14 Question Id : 97675532616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 1

2. % 2

3.3

4. % 4

Question Number : 15 Question Id : 97675532617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 persons A, B, C, D, E and F are standing in a row facing north. C is standing to the left of A. B is standing to the right of E. F is standing to the
right of A and is standing to the left of E. D is standing to the left of C. Who is standing 3 rd from the right end of the row?

Options :
1. * E
2. % A
3.% C
4. ¥ F

Question Number : 15 Question Id : 97675532617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. * E
2.% A
3. % C
4. ¥ F

Question Number : 16 Question Id : 97675532618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mahima was 7th from the left end and Dinesh was standing at a gap of 9 persons from her. If Dinesh's position from the right end is 3rd then how
many persons were there in the row? Assume people were standing facing the North.

Options :
1. % 18
2.9 19
3. % 20
4. % 21

Question Number : 16 Question Id : 97675532618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 18

2.9 19

3. %20

4. % 21

Question Number : 17 Question Id : 97675532619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five trains — T1, T2, T3, T4 and T5 leave a station at five different timings, not necessarily in the same order. T2 leave before T4 and TS5, but is
not the first to leave the station. T1 leaves after T4 and T3. Which is the first train to leave the station?



Options :
1. ¥ T3
2. % T4
3. % T5
4. % T2

Question Number : 17 Question Id : 97675532619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ T3

2. % T4

3. % T5

4. % T2

Question Number : 18 Question Id : 97675532620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a family of a Panda of three generations, there are eight members — P1, P2, P3, P4, PS5, P6, P7 and PS8. P3 is P8’s daughter-in-law. P5 is P2’s
only grandchild. P4 is P5’s maternal uncle. P4 is a child of P2 and P6. P8 is P7’s husband.There are equal number of males and females in the
family.

Whici]l of the following statements is true?

Options :

1. # There are three males in the second generation

2. % P1 is the sister-in-law of P8

3. % P5 is a male member of the family.

4. # P1 is the husband of P3.

Question Number : 18 Question Id : 97675532620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 19 Question Id : 97675532621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, below are three statements followed by four conclusions numbered I, I1, III and IV. You have to consider the statements to be true

even if it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statements:

Some Cerebrum are Medulla.
Some Medulla are Thalamus.
All Thalamus are Brain.

Conclusions:

I. Some Brain are Cerebrum.

II. Some Brain are Medulla.

III. Some Thalamus are Cerebrum.
IV. No Brain is Cerebrum.

Options :

1. % None follows
2. % Only IV follows
3. % Only II follows
4. % Only III follows

Question Number : 19 Question Id : 97675532621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % HI 11 3TI0 HdT §

Question Number : 20 Question Id : 97675532622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question, below are three statements followed by two conclusions numbered I and II. You have to consider the statements to be true even if

it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statements:

All beds are cots.

All tables are beds.
All drawers are tables.

Conclusions:



I. All beds are drawers.
II. All drawers are cots.

Options :

1. ® If only conclusion I follows

2. ¥ If only conclusion II follows

3. # If either conclusion I or conclusion II follows

4. % Ifboth conclusion I and conclusion II follows

Question Number : 20 Question Id : 97675532622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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General Ability2

Group Number : 2
Group Id : 9767551231



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Ability2

Section Id : 9767551685
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551972
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675532623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In each question below, two statements are given which are followed by two conclusions. You have to take the given statements to be true, even

if they seem to be at variance with the commonly known facts, and then decide which of the conclusions logically follow(s) from the given
statements, disregarding commonly known facts.

Statements:
Some cows are goats.

Some hens are not cows.

Conclusions:



I. Some hens can be cows.
II. No hen is a goat.

Options :

1. ¥ If only conclusion I follows

2. % If only conclusion II follows

3. # If either conclusion I or conclusion II follows

4. % If neither conclusion I nor conclusion II follows

Question Number : 21 Question Id : 97675532623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu T Ul & &) HuU= 9UT ITB UTd & e 1 Ut 11 feu U § | Ul AU T8 SUA B 9 AT 8, YA 81 98 Jand a3 fie
gdid 81d 8f T HUl & STUR TR 3T 30T SR ST § |

HY:

$S MG IHT ¢ |

$S gital T 8 g

L T |

H.ﬁ{ﬁ?ﬁqq&‘l TeI gl

Options :

1. ¢ S Fad FshT [ 3FER0 R §

2. % T Had (5HY 11 TR0 &l §

3. % gfe a1 dl e 1 a1 e 11 SFERu R §

4. % gfg T Fpy 1 3R 9 8 Fepd 11 SFeR0 HraT 8

Question Number : 22 Question Id : 97675532624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question, below are three statements followed by two conclusions numbered I and II. You have to consider the statements to be true even if

it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.



Statements:

No pen is a paper.
Some papers are pages.
All pages are pencils.

Conclusions:
I. No pen is a pencil.
II. Some papers are pencils.

Options :

1. #* If only I follows

2. % If only II follows

3. # If either I or II follows
4. # If neither I nor II follows

Question Number : 22 Question Id : 97675532624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 23 Question Id : 97675532625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number that will logically complete the below series:

0,2,6,12,20,30,42,?
Options :

1. ® 64

2.9 56

3. % 72

4. % 80

Question Number : 23 Question Id : 97675532625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I G D1 TG B Sl A1 &1 T8 el D difebep U A T B

0,2,6,12,20,30,42,?
Options :

1. # 64

2.9 56

3.% .72

4. % 80

Question Number : 24 Question Id : 97675532626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number from the given alternatives.



17 | 104 | 5 32 |00 MNm 52 7 | 49

Options :
1. % 70
2.9 80
3. % 90
4. % 100

Question Number : 24 Question Id : 97675532626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 70
2.9 80
3. % 90
4. % 100

Question Number : 25 Question Id : 97675532627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, correct the equation by interchanging two signs.



125-12%x2+24+4=-15
Options :

1. % -and ~

2. % +and +

3.9 xand +

4. % +and -

Question Number : 25 Question Id : 97675532627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 g7 § gl ol &) IRER dead GHIHRUT &l Tgl il |

125-12%x2+24+4=-15
Options :

1% 3R+

2. % = 3R+
3,«'./><Gﬁ'{+

4. % + 3R -

Question Number : 26 Question Id : 97675532628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In question, find out the wrong number in the series.

27,81, 343, 1331
Options :

1. % 125

2. %27

3. % 1331

4.+ 81

Question Number : 26 Question Id : 97675532628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferiRad us o, s & SR ke J1d Hiferd?

27, 81,343, 1331
Options :

1. % 125

2. %27

3. % 1331

4.+ 81

Question Number : 27 Question Id : 97675532629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, '+' represents 'x', '—' represents '+', 'x' represents '+' and '+' represents '—'. Find out the answer to the following
question?

0.1 +500-240x6=7?
Options :

1. ¥ 90

2.% 10

3. % 1.25

4. % 108

Question Number : 27 Question Id : 97675532629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et s UINT |, '+ BT A 'x' §, '~ BT HAAS '+ 8, 'x' BT HIAS '+' g 3R '+ BT Adad — g | FufalRad Uy &1 IR J1d SIS

0.1 +500-240x6=7?
Options :

1. ¥ 90

2. %10



3. % 1.25
4. % 108

Question Number : 28 Question Id : 97675532630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures represents the best relationship among the three words given below.

Hypotenuse, Perpendicular, Base
Options :

1. #

2. % :

O

3. ®
0

Question Number : 28 Question Id : 97675532630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad & Q - A spha faT 7 o wreal & o Jod 3w At 1 i 5|



HUL, I, MMYUR
Options :

1. ®

2. ®

O

3. %
O
4. O

Question Number : 29 Question Id : 97675532631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, the semi-circle stands for Agent, the rectangle stands for Scientist, the square stands for Singer and the triangle stands for
Teacher. Study the figure carefully and answer the given question.

JAN
DL AN )
a\.e\h

VAN

i

The letter which represents Scientist and Singers, who are neither Teacher nor Agent is :



Options :
1. % ¢
2.%h
3.% ¢

4. % 1

Question Number : 29 Question Id : 97675532631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad s H, 3igad &1 31 Toic §, Smad &1 o a3 &, a7 BT o TS § SR Y F1 31 R1eres 8| 3@ &1 eAgadh
YT PIFTY 3R T T Y BT IR S|

AN
Dol A i
.a".e\h

VAN

i

qg 31&R S AN IR M| 1 gfdl &, S 7 o e § SR T woie 8
Options :

I.* e

2.%h

3.% ¢

4. % i

Question Number : 30 Question Id : 97675532632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figure represents (forest, tree, roots) ?
Options :



Question Number : 30 Question Id : 97675532632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffafea o @ oF I eorefa (@, U, SIa)) @ gwifdt 82

Options :

1‘\-;./



4_543

Question Number : 31 Question Id : 97675532633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagram represents the correct relationship between Cricketers, Player and Human beings?
Options :

2@ ®©

Question Number : 31 Question Id : 97675532633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & T D19 971 3IRT fohdred, TSt 3R S99 & sid Iy I aTd1 82



Options :

1.¢

2@ ®©

Question Number : 32 Question Id : 97675532634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagram represents the correct relationship between Software, Hardware and MS-Office?

Options :

o5




(0)0
09

& O
O

2. ¥

4. %

Question Number : 32 Question Id : 97675532634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9§ A B9 91 3T JedR, EreadR 3R MS-3H1Thd & &t Ty I axiar g2

Options :

D

O

(0)0

2.¢¥




2
& O
4, % O

Question Number : 33 Question Id : 97675532635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the figure given below?

Options :
1. % 20
2. % 22
3.9 28
4. % 30

Question Number : 33 Question Id : 97675532635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=i €1 1S frepfal | FBrysit o1 et fbai 82



Options :
1. % 20
2. % 22
3.9 28
4. % 30

Question Number : 34 Question Id : 97675532636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the figure which completes the pattern of the question figure?

Question Figure

DS

Options :



Question Number : 34 Question Id : 97675532636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I ATHIA Pt U BIToTE St U= 3MTpid & U B R Bl 82
S i

(DS

Options :



%R\H-__.-f’/

Question Number : 35 Question Id : 97675532637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will come next in the following series.

Question Figure:

2 IS <
A A

s ;5"), VVYYYE-Q{ AXA

AAA ;._)- v -(,,.-‘{_

Options :




<
<
<<

L LS

Question Number : 35 Question Id : 97675532637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I STl DT g DI Sl FEferRad y@ar o 3T et

il :>—
>>_>- Y Y -{:

MM

AAA
e

2. ®

3. ¢




Question Number : 36 Question Id : 97675532638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is analogous to the given set of figures.

Question Figure:

A
[=]

p|oj-
~

I n | I
Options :

L

Question Number : 36 Question Id : 97675532638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 fadheq &1 T PHifore S foU 1T siepfadl & e & U 7|
TR TP

W

-
[=]

| ] | I
Options :

LN ]

p|O|—
~)

L

LU R

Question Number : 37 Question Id : 97675532639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the figure in which the question figure is hidden .



Question Figure:

Options :

Question Number : 37 Question Id : 97675532639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS IR 3T H F, I SMpTa BT Tg- BIforg s uy anepfa fvd/Afea 31



R AT

Options :

Question Number : 38 Question Id : 97675532640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the image carefully and choose the right mirror image.

Ouestion Figure:

xS



Options :

Question Number : 38 Question Id : 97675532640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST BT YIS T BHifod SR Tt gl Bfa g
wEel HIH:
Options :

Y




Question Number : 39 Question Id : 97675532641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option to complete the following pattern.

Question Figure:

?

Options :

Q




L
ok
LE

Question Number : 39 Question Id : 97675532641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ted & 1 o3 & e et fadeu &1 994 Siforg|

WeT AT




L%
ok
LE

Question Number : 40 Question Id : 97675532642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which letter is opposite to P, if the given figure is folded into a cube?

[Pla|R]|S]

Options :
1. % Q
2. ¥R
3.% S
4. % T

Question Number : 40 Question Id : 97675532642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

gfe feu 7T 3T fa ) 89 & U H AT, df p & fIUd D14 1 31&R M2

T
[Pla|R]|S]

[V
Options :
1. % Q
2. ¥R
3.% S
4. % T

General Awarenessl1
Group Number : 3
Group Id : 9767551232
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awarenessl1

Section Id : 9767551686
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551973
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675532643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following dynasties had constructed various chahar baghs in India?
Options :

1. * Lodhis

2. #* Tughlags

3. % Mughals

4. % Khiljis

Question Number : 41 Question Id : 97675532643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed @ 3 forg oas 3 URd B faftrs aRart &1 fAafor fasar
Options :

1. % et

2. % Il

3. ¢ Il

4. % Tgeroll

Question Number : 42 Question Id : 97675532644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which of the following places is the Thousand Pillars Temple located?
Options :



1. ¥ Hanamkonda
2. % Karimnagar
3. % Guntur

4. # Kadapa

Question Number : 42 Question Id : 97675532644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed & @ ford M R 3R WY TR Rd 82
Options :

1. ¥ gIH®DIST

2. % HUFATR

3. % X

4, % DhalUl

Question Number : 43 Question Id : 97675532645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the traditional dance of the Bodos?
Options :

1. # Nati

2. % Raut Nacha

3. % Oppanna

4. ¥ Bagurumba

Question Number : 43 Question Id : 97675532645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRd & O S SIS S & URURS Td 62
Options :

1. % 97




2. % I3 AT
3. % 3T
4. ¢ SIS

Question Number : 44 Question Id : 97675532646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which language is Rabindra Sangeet composed in?
Options :

1. # Odiya

2. * Hindi

3. ¥ Bengali

4. % Assamese

Question Number : 44 Question Id : 97675532646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rt witd forg mer & e 82
Options :

1. % 3nfear

2. % fgdt

3. ¢ SITQl

4. % 3o

Question Number : 45 Question Id : 97675532647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following dancers is a great exponent of Manipuri dance?
Options :

1. % Uday Shankar

2. % Guru Bipin Singh



3. % Sonal Mansingh

4. ¥ Padma Subrahmanyam

Question Number : 45 Question Id : 97675532647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafaifad & § S B Tar 3 e e HReE 3
Options :

1. # g YR

2. ¢ 1% faf Rig

3. % YA HFRIE

4. % UN JJIHUgH

Question Number : 46 Question Id : 97675532648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of October 2021, At present how many payment banks are there in India?
Options :

1. % 4

2.%5

3.6

4, % 7

Question Number : 46 Question Id : 97675532648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ACER 2021 TP IYAR TFBR! & IR TdHH H HRA | fra YTaH §b g2
Options :

1. % 4

2. %5

3.¥6




4. %17

Question Number : 47 Question Id : 97675532649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the National Infrastructure Pipeline (NIP) announced by the Finance Minister of India?
Options :

1. * 2016

2. % 2017

3. % 2018

4.+ 2019

Question Number : 47 Question Id : 97675532649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTT o 130t g1 fop el rectgy Srawiem urguang (Hansuh) &) ewor @ it ot
Options :

1. ® 2016

2. % 2017

3. % 2018

4.4 2019

Question Number : 48 Question Id : 97675532650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Budget Speech 2021 the Union Finance Minister has recommended to increase the permissible FDI limit in Insurance sector from 49% to
what percent?

Options :
1. % 55
2. % 67
3.¥ 74
4. % 85



Question Number : 48 Question Id : 97675532650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§ole HTOT 2021 H et fod Tt 3 ST &3 H 3Hd UhSTens T &1 49% T FGTHR T Uia=Id 63 &1 RIGIND &1 g2
Options :

1. # 55

2. % 67

3.9 74

4, % 85

Question Number : 49 Question Id : 97675532651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the SWAMITVA Yojana related to?

Options :

1. # Agricultural marketing

2. % Ensuring fixed income to the unemployed in the rural areas
3. ¥ Mapping residential land ownership in the rural sector

4. ® Giving agricultural land to the landless farmers

Question Number : 49 Question Id : 97675532651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W Arei1 forad Heifdrd 82

Options :

1. % oy fauuH

2. % Yroior &= B SRIGRI &1 [F3d S gfgd s
3.« JTHIOT &F § ARG YA & WIHa &1 AHRED
4. % A {1 By HfFr &




Question Number : 50 Question Id : 97675532652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Union Budget 2021, the Operation Green Scheme will be extended to include how many perishable products?
Options :

1. # Twenty

2. % Ten

3. # Eleven

4. ¥ Twenty-two

Question Number : 50 Question Id : 97675532652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DHald Folc 2021 & HTIR, AR W IS o SRR T 3 fobd Sed! Te dTdl IdTg AMHA g1 SIa?
Options :

1. % &9

2. % q¥

3. % Rg

4. ¢ %Y

Question Number : 51 Question Id : 97675532653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following medicines is acetylsalicyclic acid used?
Options :

1. ® Antacid

2. % Aspirin

3. % Inhalers

4. # Anti-diabetic medicines

Question Number : 51 Question Id : 97675532653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

FufaRea A A feg car d Qﬁl?l%?@ﬁlﬁfw s (Acetylsalicyclic acid) I IUANT fHaT STdT %?
Options :

1. % @IRre

2. ¢ TRURA

3. % TTOW

4. % gydg faviel qamg

Question Number : 52 Question Id : 97675532654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the colour of pure acetic acid?
Options :

1. # White

2. # Yellow

3. % Green

4. % Colourless

Question Number : 52 Question Id : 97675532654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS TRIfes TRIS ST I AT 72
Options :

1. % gbg

2. % Glefl

3. % gl

4.« S

Question Number : 53 Question Id : 97675532655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is responsible for peptic ulcers?
Options :

1. ¥ Helicobacter pylori

2. # Lactobacilus

3. ¥ Pseudomonas

4. ¥ Hay bacilus

Question Number : 53 Question Id : 97675532655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ufpe gur & forg Fafead 7 @ &1 iR g2
Options :

1. ¢ BiidlddeR UraR

2. % UaIaRIad

3. % YSIAHN

4. % g dRyery

Question Number : 54 Question Id : 97675532656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What kind of waves are sound waves?
Options :

1. ¥ Longitudinal waves

2. # Transverse waves

3. % Surface waves

4. # Electromagnetic waves

Question Number : 54 Question Id : 97675532656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G T {58 UHR &1 | 82

Options :



1. ¢ 3Fce ail

2. % U A

3. % g Al

4. % foqgdqEdg ail

Question Number : 55 Question Id : 97675532657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the narrow belt ranging between 8-10 km parallel to the Shiwalik foothills at the break-up of the slope?
Options :

1. % Khadar

2. % Bhangar

3. ¥ Bhabar

4. # Tarat

Question Number : 55 Question Id : 97675532657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gd & JHT gH TR RaTferes qaed! & THMIR 8-10 fHH & sta & AH<! gt HT AH 1 62
Options :

1. ® 9}

2. % YIS

3. ¢ YR

4. % CRId

Question Number : 56 Question Id : 97675532658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following glacier is known as the origin of the Bramhaputra?
Options :

1. ¥ Chemayungdung



2. % Mapchachungo
3. ®¥ Amarkantak
4. % Milam

Question Number : 56 Question Id : 97675532658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ffuel & @ frd siey &t Safy & =4 H ST il 82
Options :

1. ¢ YIS

2. % HIOTM

3. % 3MMDbchH

4. % foem

Question Number : 57 Question Id : 97675532659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of soil is not suitable for natural cultivation?
Options :

1. ¥ Laterite Soil

2. % Black soil

3. # Alluvial Soil

4. ¥ Red Soil

Question Number : 57 Question Id : 97675532659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg UpR @ frs) wrpfae @t & fae Iuged 8t 32

Options :

1. ¢ dexrge gt
2. % Pl gl



3. % HoR gl

4. % ord gt

Question Number : 58 Question Id : 97675532660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states is the Sultanpur National Park situated?
Options :

1. # Madhya Pradesh

2. # Rajasthan

3. ¥ Mabharashtra

4. ¥ Haryana

Question Number : 58 Question Id : 97675532660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YedFyR g IeH Fafarad 3 3 g woa & fua 82
Options :

1. % AU

2. % ST/

3. % HeRIY

4.« g

Question Number : 59 Question Id : 97675532661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was subsidiary alliance imposed on Awadh and in which year was it taken over by the British?
Options :

1. % 1801 and 1856 respectively

2. % 1810 and 1854 respectively

3. % 1812 and 1850 respectively



4. % 1815 and 1828 respectively

Question Number : 59 Question Id : 97675532661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g g 7 3/ay W U Jerae Y At i SR forg o & ST A IUR Hea R foram
Options :

1. ¢ HH: 1801 3R 1856

2. % HHI: 1810 3R 1854

3. % B 1812 3R 1850

4. % HU: 1815 37 1828

Question Number : 60 Question Id : 97675532662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following had helped in establishing the Serampore Missionary?
Options :

1. # Henry Colebrook

2. % William Carey

3. % William Adam

4. % Thomas Babington Macaluay

Question Number : 60 Question Id : 97675532662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed & 9 fba MR ARl &1 R H Heg &t di?
Options :

1. % g DIAgH

2. ¢ faferam B

3. % faferoH TeH

4. % iy gfdres Agpd



General Awareness2

Group Number : 4

Group Id : 9767551233
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness2

Section Id : 9767551687
Section Number : 1

Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 97675532663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who out of the following had established schools for Muslim girls in Patna and Calcutta?
Options :



1. # Sufia Kamal
2. * Jahanara Imam

3. % Begum Rokeya Sakhawat Hossain
4. % Mumtaz Ali

Question Number : 61 Question Id : 97675532663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 forem Ter iR Hamar H gy asfeal & e Wpa wifid fau 92
Options :

1. % gthar ST

2. % TQIRISHH

3. ¢ T AHaT FQad ga

4. % TS 3l

Question Number : 62 Question Id : 97675532664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Ananga Pala begin his reign?
Options :

1. % 1124 AD

2. % 1128 AD

3. ¥ 1130 AD

4. % 1134 AD

Question Number : 62 Question Id : 97675532664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT A T I S(UHT ARG IR o
Options :

1. % 11243




2. % 11283
3.9 1130S
4. % 11343

Question Number : 63 Question Id : 97675532665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first ruler of the Gupta dynasty to adopt the title of 'maharaja-adhiraja'?
Options :

1. * Samudragupta

2. ¥ Chandragupta |

3. ¥ Chandragupta II

4. % Skandagupta

Question Number : 63 Question Id : 97675532665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HERTGERTS! P I ST aTel T =T & TUH D I 2
Options :

1. %

2. ¥ It UYH

3. % I g

4. % Wl

Question Number : 64 Question Id : 97675532666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of October 2021, Who out of the following is the President of Italy?
Options :

1. ¥ Pedro Sanchez

2. # Pilar Llop



3. % Sergio Mattarella
4. # Giuseppe Conte

Question Number : 64 Question Id : 97675532666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR 2021 TP IUAK AFBRI & HFUR FHfAEd o ¥ DI sceit & Pl 82
Options :

1. % Ugl gial

2. % iR Y

Question Number : 65 Question Id : 97675532667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book 'The mysterious stranger'?
Options :

1. # Charles Dickens

2. % Mark Twain

3. % Oscar Wilde

4. % Jack London

Question Number : 65 Question Id : 97675532667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ TR ToR [ & o DI 67
Options :

1. % gred fEb—g

2. ¥ AT ¢

3. % 3R AISCS




4. % Gb d<d

Question Number : 66 Question Id : 97675532668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who won the Best Actor award at the 93rd Academy Awards?
Options :

1. # Leonardo DiCaprio

2. ¥ Anthony Hopkins

3. % Jonathan Pryce

4. % Antonio Banderas

Question Number : 66 Question Id : 97675532668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

93 o 3fPIGH! TRHR T FAAF AT BT [RBR o= Siam
Options :

1. % forrst fEo i

2. ¢ 3 gIfb=g

3. % S UISH

4. % G I<=Y

Question Number : 67 Question Id : 97675532669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the World Health Organization begin its operations?
Options :

1. ¥ 1948

2. % 1949

3. % 1950

4. % 1951



Question Number : 67 Question Id : 97675532669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa%y Tar=g W16 A T e a9 ST SR e foedm
Options :

1. ¥ 1948

2. % 1949

3. ¥ 1950

4. % 1951

Question Number : 68 Question Id : 97675532670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the Chairman of the National Securities Depository Limited?
Options :

1. # Prof. G. Sivakumar

2. # G. V. Nageswara Rao

3. % B. A. Prabhakar

4. # Dr. Rajani Gupte

Question Number : 68 Question Id : 97675532670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT RIS feuifores fifires & sieger o1 82

Options :

1. % . off. Rrapar
2. % Sff. gt AR Y@

3. ¢ §. T JHIHR
4. % 31 IoA I



Question Number : 69 Question Id : 97675532671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of October 2021, Which of the following bodies will launch the National Data and Analytics Platform (NDAP)?
Options :

1. ¥ NITI Aayog

2. % Ministry of Finance

3. % RBI

4. % SEBI

Question Number : 69 Question Id : 97675532671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SFCER 2021 T IUASY TAHBRI o IR FHfeiRad & & o 91 o AP1a STe 3R [I=avur 79 (RHd S1el US THiiead ©ehH
1 TS ITUY) Al B2

Options :

1. ¢ i SmamT

2. % fod T=ie™

3. % IREISE

4. % &t

Question Number : 70 Question Id : 97675532672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following days was celebrated as the National Girl Child Day in the year 2021?
Options :

1. # January 21st

2. % January 22nd

3. % January 23rd

4. % January 24th

Question Number : 70 Question Id : 97675532672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFoffed & 9 fg &7 &1 af 2021 # g sferesT fdaw & U & w4
Options :

1. % 21 S

2. % 22 G

3. % 23 SHG

4. ¢ 24 SFARL

Question Number : 71 Question Id : 97675532673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries will India assist to replicate the Ujjwala model of LPG connection?
Options :

1. ¥ Ghana

2. % Rwanda

3. ® Nigeria

4. % South Africa

Question Number : 71 Question Id : 97675532673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAUTSH BRI & Fwdell HISd bl Qe & It HRd FHafiRad & U {69 41 &t Igridl dum
Options :

1.« Yl

2. % Xqisl

3. % ATgeiiar

4. % U7 3{TBTRT

Question Number : 72 Question Id : 97675532674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the rank of India is the Economic Intelligence Unit's recently released Democracy Index 2020?
Options :

1. #® 48

2. % 49

3. % 50

4, ¥ 53

Question Number : 72 Question Id : 97675532674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHIHE Seiaoi giHe GRT 8Td gt H oIk} &1 TRt Aldhds Yadhidh 2020 H HRA $I 3 &1 82
Options :

1. % 48

2. % 49

3. % 50

4.9 53

Question Number : 73 Question Id : 97675532675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following constitutional amendments brought down the minimum age for voting from 21 years to 18 years?
Options :

1. ® 52nd

2.9 6lst

3. % 73rd

4. % T4th

Question Number : 73 Question Id : 97675532675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # 9 fra Yaue Tiem A Adeq &1 gAdd 317 21 T4 ¥ UeTahR 18 aY o ¢




Options :
.% 54
2.4 614d
3. % 739
4. % 749

Question Number : 74 Question Id : 97675532676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries has a parliamentary democracy with a constitutional monarchy where Queen Elizabeth II is the formal chief of
state?

Options :

1. # USA
2. # France
3. % Canada
4. % Japan

Question Number : 74 Question Id : 97675532676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Praferia & 2 e 31 S Sid iR FaUe o & R HeRT TRy fdia < & wue 2
Options :

1. % Yo oy SHRPT

2. % g

3. ¥ PpAlST

4, % SUH

Question Number : 75 Question Id : 97675532677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
With which of the following is the P. K. Thungon Committee of 1989 related to?
Options :



1. # Basic features of the Constitution
2. % Appointment of judges in Supreme Court
3. ¥ Appointment of judges in High Court

4. ¥ Local government

Question Number : 75 Question Id : 97675532677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1989 &1 . . Y7 WiHifa F1 Ty Fafafead 3 3 foas g7
Options :

1. % Hfqy™ o1 gol fa=vang

2. % gare ey § e @ Fgfad

3. % I e | iR ot gl

4.« R A

Question Number : 76 Question Id : 97675532678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following articles of the Indian Constitution forbids employment of children below the age of 14 years in dangerous jobs like
factories and mines?

Options :
1. % 21
2. % 22
3. %23
4. ¥ 24

Question Number : 76 Question Id : 97675532678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTT Ay & FEfaRed srawel § ¥ ®F ¥ 3gwe & 3UR SREM, WaH 1 3= [t Gavie & H 14 a4 I HH 39 & 9| Dl
ERISCEZSIREIN A

Options :




1. # 21
2. % 22
3. %23
4.9 24

Question Number : 77 Question Id : 97675532679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the Article 324 of the Indian Constitution related to?
Options :

1. # Supreme Court

2. ¥ Election Commission

3. # Governor

4. # Central Vigilance Commission

Question Number : 77 Question Id : 97675532679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TR BT 3ede 324 ProfifRd & fred defig &
Options :

1. % Fdred grarerd

2. ¥ gHId TN

3. % Yyt

4. % HEIg Yobdl SN

Question Number : 78 Question Id : 97675532680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following games is Manpreet Singh related to?
Options :

1. ¥ Hockey



2. # Wrestling
3. #® Golf
4. ¥ Boxing

Question Number : 78 Question Id : 97675532680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tvita g Fafafed @ 3 forg wa 9 defta 82
Options :

1. ¢ gl

2. % Bl

3. % Tt

4. % QIR

Question Number : 79 Question Id : 97675532681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries does Luis Suarez play for?
Options :

1. # Brazil

2. ¥ Uruguay

3. # Chile

4. % Argentina

Question Number : 79 Question Id : 97675532681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T34 GaiRel FafeRad o 9 frd <=1 & fore derd 82
Options :

1. % Soild

2. v/ 3%



3. % fc
4. % 3fS{cHT

Question Number : 80 Question Id : 97675532682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following has been named as the leading cricketer for the year 2020 in the world by Wisden?
Options :

1. # Virat Kohli

2. # Jofra Archer

3. ¥ Ben Stokes

4. # Rohit Sharma

Question Number : 80 Question Id : 97675532682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad 7 9 52 fasrs gri fay & avf 2020 & forw 949y (@ fifEm) fobdrer & Tu o mfara fovar man 82

Options :
1. % foRTe B
2. % ST SR
3. ¢ o Kl
4. % Jfga Al

Arithmetic Abilityl
Group Number : 5
Group Id : 9767551234
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Abilityl

Section Id : 9767551688
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551975
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 97675532683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the least number which when divided by 11, 16, and 12 leaves remainders of 7, 12, and 8 respectively.
Options :

1. * 744

2.¥ 524

3. % 436

4. % 678

Question Number : 81 Question Id : 97675532683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 DI T BIET TWAT J1d HIONT o 11, 16 3R 12 T TIHIRIT 7 TR ATHSA HAT: 7, 12 IR $ W BT & |



Options :
1. # 744
2.9 524
3. % 436
4. % 678

Question Number : 82 Question Id : 97675532684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is true about the number of pairs which have 18 as their HCF and 136 as their LCM?
Options :

1. ¥ Only one such pair exists

2. % Only two such pairs exist

3. ¥ More than two such pairs exist

4. ¥ No such pair exists

Question Number : 82 Question Id : 97675532684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 G - & TR H o1 el & [T HeaH THIad® 18 3R Tgad HIad 136 82
Options :

1. % U had Uh H §
2. % VI HIA A THE
3. % WH NI T8
4.« VY BIS g Gl §

Question Number : 83 Question Id : 97675532685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The remainder, when (1523+2323)is divided by 19 is:
Options :



1. * 4
2. % 15
3.0
4. % 18

Question Number : 83 Question Id : 97675532685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O (1523+2323) I 19 Y ARG a1 9I1dT ¢, d1 Ui 9% d o
Options :

1. % 4

2. % 15

3.¥0

4. #® 18

Question Number : 84 Question Id : 97675532686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If (a+ 1/a) = 10/3. then find the value (a° + 1/a%).
Options :

1. % 730/27

2. #* 1000/27

3. #* 500/3

4. # 365/3

Question Number : 84 Question Id : 97675532686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe (a + 1/2) = 10/3, Tl (23 + 1/2%) BT HF JId DI

Options :



1. % 730/27
2. % .1000/27
3. # 500/3
4. % 365/3

Question Number : 85 Question Id : 97675532687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

LCM of two numbers is 3225 and their HCF is 5. If first number is 215, then find the average of both numbers.
Options :

1. #® 125

2. % 135

3.9 145

4. % 155

Question Number : 85 Question Id : 97675532687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS BT AYTH THUG 3225 3R 3D HeTH YHUG® 5 § | TG Tgal WS 215 §, Al GIH1 ST BT 3T J1d B |
Options :

1. % 125

2. % 135

3. ¢ 145

4. % 155

Question Number : 86 Question Id : 97675532688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHIER - 8 UTIRIT B1 FE W 17940 ¥UA H T T, 9t 3R 19.6 IR &1 AH HHAT| Al B G 8l &l Ol &, ql ST a1y
gfa=rd &1 g

Options :

1. % 25 gfaerd



2. % 26.5 gfawd
3. % 24 gfad
4.+ 30 Ufaerd

Question Number : 86 Question Id : 97675532688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sold an A.C. for Rs. 17940 with a discount of 8 percent and earned a profit of 19.6 percent. If no discount is allowed, then what
will be his profit percent?

Options :

1. # 25 percent
2. # 26.5 percent
3. % 24 percent
4. ¥ 30 percent

Question Number : 87 Question Id : 97675532689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The market price for an article is 60 percent above the cost price. A shopkeeper sells the article after giving a discount of m percent and earns a
profit of 2m percent. What is the value of m?

Options :
1. % 20
2.9 16.66
3.% 10
4, % 17.28

Question Number : 87 Question Id : 97675532689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I D1 JoIR o, AN o ¥ 60 UI=IT S § 1 Toh gHMER m UTIRId B GT ol o d1G a%d B! S9dl © 3R 2m Wa=1d &I arH
HHT | m BT A T 82
Options :




1. #® 20
2. ¥ 16.66
3.% 10
4. % 17.28

Question Number : 88 Question Id : 97675532690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the single discount equivalent to three successive discounts of 20 percent, 15 percent and 10 percent?
Options :

1. # 45.2 percent

2. # 42.4 percent

3. % 60.2 percent

4. ¥ 38.8 percent

Question Number : 88 Question Id : 97675532690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 =T, 15 U= 3R 10 UfA=Id & 9 S e & IR Thd ¢ 1 g2
Options :

1. % 452 Yfa=rd

2. % 424 Ul

3. % 60.2 Ufc=rd

4. ¥ 38.8 Ufd=rd

Question Number : 89 Question Id : 97675532691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of 10 men is increased by 2 years when one of them of 25 years age, is replaced by a new man. The age of the new man is :
Options :

1. % 42 years



2. * 48 years
3. % 50 years
4. ¥ 45 years

Question Number : 89 Question Id : 97675532691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 G2 BT 37d Mg 2 8 ¢ STl § Al S8 I Teb 25 a4 DI 31 a1 BI U -4 e gRT §ad g1 SIdl & 1 T4 I3 &1 311 3:
Options :

1. % 4299

2. % 48 9Y

3. % 50T9

4. 459Y

Question Number : 90 Question Id : 97675532692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 40 percent of 50 percent of 30 percent of 2500 = a and 20 percent of 26 percent of 10000 = b, then what will be the value of b percent of 20
percent of a?

Options :
1. % 144
2.9 156
3. % 160
4. % 175

Question Number : 90 Question Id : 97675532692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 2500 BT 30 TR BT 50 TFARTA BT 40 TIRIA = a 3R 10000 FT 26 TR BT 20 UFA=RIA = b 8 <l a P 20 IR BT b UFA=Id BT AH
fob =1 g1

Options :

1. % 144



2. ¥ 156
3. % 160
4. % 175

Question Number : 91 Question Id : 97675532693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Alisha scores 80 percent in Physics and 66 percent marks in chemistry and the maximum marks of both the papers are 100. How much percent
does she scored in mathematics which is of 200 marks, if she scores 80 percent marks in all the three subjects?

Options :

1. * 74 percent
2. % 84 percent
3. % 87 percent
4. # 83 percent

Question Number : 91 Question Id : 97675532693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3t 3 Mfdst 7 80 Ufawrd 3R 9= fag H 66 Ufa=rd 3 U fobT 3R g1 Ol & 3if¥epad 3ih 100 & | 10T A 98 favd= ufawra
T il g Sl b 200 3T BT @, AfG T8 <11 fawdl & 80 UTIRId 3idh U Hcll 52

Options :

1. % 74 gfard

2. % g4 fard

3. ¢ 87 Ufd=id

4. % 83 gfavrd

Question Number : 92 Question Id : 97675532694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A salesman gets commission on total sales at 9 percent. If the sale is exceeded Rs. 10000 he gets an additional commission as bonus of 3 percent
on the excess of sales over Rs. 10000. If he gets total commission of Rs. 1320, then what is his total sale?

Options :



1. * Rs. 18000
2. # Rs. 12600
3. ¥ Rs. 13500
4. % Rs. 15400

Question Number : 92 Question Id : 97675532694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fashdl &1 F faeh! W 9 UfA=rd &t e § HHH firear g1 afe fasbt 10,000 0T T 31fE gt 8, a1 SH 10,000 0 T S o1 g
R 3 Ti=Id & 919 & &0 J T SfARad HHRH Had g1 afe 399 $d 1320 0 HHIRE U fhY , 6 S9H1 $dl ool [ &1 g2

Options :

1. % 18000 TY
2. % 12600 9T
3. ¢ 13500 =04
4. % 15400 TTY

Question Number : 93 Question Id : 97675532695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a company, 60 percent of the employees are men. 48 percent of the employees are married and 66.66 percent of these are men. What is the
percentage of women who are not married?

Options :

1. # 35 percent
2. % 60 percent
3. % 52 percent
4. % 40 percent

Question Number : 93 Question Id : 97675532695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

w%%mmmw% 48 Tfa=rd =R} faarfed § SR 370 9 66.66 Ufa=rd g3y ¢ | Aflganstt & sifaarfed afiganstt &1



Options :

1. % 35 gfard
2. ¢ 60 Ufd=Id
3. % 52 gfa=rd
4. % 40 gfaerd

Question Number : 94 Question Id : 97675532696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The profit earned after selling an article for Rs. 1625 is same as the loss incurred after selling the article for Rs. 1435. What is the cost price of
the article?

Options :

1. # Rs. 1320
2. ¥ Rs. 1530
3. ¥ Rs. 1640
4, % Rs. 1250

Question Number : 94 Question Id : 97675532696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foref aRg @Y 1625 TUT T g7 W AT 7Y I TG DI 1435 T T 991 TR U BN & SRR 8| I $1 Hd Jed 1 32
Options :

1. % 1320 04

2. ¢ 1530 =0

3. % 1640 &UY

4. % 1250 QY

Question Number : 95 Question Id : 97675532697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sumit can earn a profit of 20 percent by selling a basket containing 80 apples whose cost price is Rs. 240 but he gives one-fourth of it to his
friend at cost price and sells the remaining apples. In order to earn the same profit, at what price must he sell each apple?



Options :

1. * Rs. 3.00
2. % Rs. 3.60
3. ¥ Rs. 3.80
4. % Rs. 4.80

Question Number : 95 Question Id : 97675532697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬂ@éﬁﬁ@so%ﬁéﬁzoﬁ%ﬁ@ﬂmw%mﬁcnud B 240 TUY g, Afp I8 U4 {1 o) 3THT1 Up-
TS T ANTd He TR <l § 3R AN U9 99T & | GHH a4 HHM & AL, 39 TS 49 fhg HiHd IR 99T d1ee?

Options :

1. % 3.00 =00
2. % 3.60 F0Y
3. ¢ 3.80 0T
4. % 480 F0Y

Question Number : 96 Question Id : 97675532698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The retail price of a cooler is Rs. 2530. If the manufacturer earns 10 percent profit, the wholesale dealer earns 15 percent profit and the retailer
earns 25 percent profit, then what is the cost of the cooler for the manufacture?

Options :

1. ® Rs. 1800
2. % Rs. 2000
3. % Rs. 1700
4. ¥ Rs. 1600

Question Number : 96 Question Id : 97675532698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T& HR BT G G 2530 I9 7| Afe FHfT 10 TR A1 ST &, U1 FURY 15 Ui=Id aH HHI § SR Qe fadhdr 25 TR



Y AT &, I HoR BI FHd B B arTd =1 82
Options :

1. % 1800 30

2. % 2000 39T

3. % 1700 304

4. ¥ 1600 3T

Question Number : 97 Question Id : 97675532699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What number must be added to each of 9, 42, 3, and 18 so that the resulting numbers make a proportion?
Options :

1.¥2

2.% 4

3.%3

4, % 5

Question Number : 97 Question Id : 97675532699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9,42, 3 3R 18 UAH | P Ul TeAT Siia! o1t AT arfes afRomet Temt Jarurdt 8 2
Options :

1.¥2

2. % 4

3.%3

4, % 5

Question Number : 98 Question Id : 97675532700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dheeru , Veeru and Sheru are partners in a business. Dheeru invests his money for 4 months and claims 1/8 of the profit. Veeru invests his money
for 6 months and claims 1/3 of the profit. Sheru invests Rs. 1560 for 8 months.How much money did Dheeru invests?



Options :

1. ¥ Rs. 720
2. % Rs. 320
3. #* Rs. 580
4. % Rs. 970

Question Number : 98 Question Id : 97675532700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i, IRe 3R AT T I H HIfleR 81 fivs 4 7R P T 3rum U 1 fRa9w rar @ SR ATH &1 1/8 HHIAT 8 | A= 6 HeH & fau
O HRaT 8 IR ATH BT 1/3 FHTAT ]| | A= 7 8 AN & oW 1560 ST 1 AW fhar| ¢fivs 7 fram 08 o fpu 2

Options :

1. ¥ 720 &0
2. % 320 F0Y
3. % 580 ®0Y
4. % 970 TTY

Question Number : 99 Question Id : 97675532701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A barrel contains a mixture of wine and water in the ratio of 3:1. How much part of the mixture must be drawn off and substituted by water so
that the ratio of wine and water in the resultant mixture in the barrel became 1:1?

Options :
1. % 1/4
2.¥1/3
3. % 3/4
4. % 2/3

Question Number : 99 Question Id : 97675532701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP SRA | 3: 1 & 3JATd H IRTT 3R T 1 i1 8 | fysyor 1 fopan fewan Feprares: urt g1 uferfua fosan S =nfeu anfe aja &



TROITHT 1207  RTE 3R UTHT o7 ST 1: 1 81 Se
Options :
1. % 1/4
2.9 1/3
3. % 3/4
4. % 2/3

Question Number : 100 Question Id : 97675532702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifm:n:p=e—f:f—d:d-e, then find the value of md + ne + pf.
Options :

1.¥0

2. %2

3. % -1

4, % -2

Question Number : 100 Question Id : 97675532702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Zlﬁm:n:p=e—f:f—d:d—e,?ﬁmd+ne+pfﬁqﬁﬂﬁaﬁﬁﬁI
Options :

1.¥0

2.% 2

3. % -1

4. % -2

Arithmetic Ability2

Group Number : 6
Group Id : 9767551235



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 9767551689
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551976
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 97675532703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chandan invests Rs. 4000 for 3 years at compound interest. After one year the money amounts to Rs. 4320. What will be the approximate money
received by Chandan after of 3 years?

Options :

1. % Rs. 4939
2. % Rs. 5040
3. % Rs. 5789
4. % Rs. 6129



Question Number : 101 Question Id : 97675532703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

de ah gl oS IR 3 98 & foTT 4000 T HT X Fxal 8 | Uh aN o 916 Ig Y-RIRT 4320 TG I A g1 3 T & SIE I&- Bl U
ST e=RIfRT fopait gl

Options :

1. % 4939 QY

2. ¥ 5040 T4

3. % 5780 ¥ 04

4. % 6129 T

Question Number : 102 Question Id : 97675532704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arjun borrows Rs. 45000 from Sudheer at the rate of 12 percent per annum on compound interest. At the end of the first year he repays Rs.
22000 to Sudheer. How much amount must he repay at the end of the second year to Sudheer to clear all the amount borrowed by him?

Options :

1. # Rs. 33200
2. % Rs. 29400
3. % Rs. 28500
4. ¥ Rs. 31808

Question Number : 102 Question Id : 97675532704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ol = Ahqfa STl TR 12 Ufa=rd ufd a9 &1 &3 ¥ R F 45000 $UT IYR forT | Tgdd 98 & 3id & 3T R BT 22000 9T feU | IR HI
TR a4 & 3fd B 3P gRT IUR ol T3 IR B g & o farait ifRr &=t gt

Options :

1. % 33200 300

2. % 29400 3T

3. % 28500 ¥UY

4. ¥ 31808 T4




Question Number : 103 Question Id : 97675532705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vineeta invested one-third of her capital at 10 percent per annum, one-fourth at 15 percent per annum and the remainder at 20 percent per annum
all at simple interest. If she received Rs. 740 as the total interest after 1 year, then what is her capital?

Options :

1. ¥ Rs. 5400
2. % Rs. 6000
3. ¥ Rs. 4800
4. % Rs. 7200

Question Number : 103 Question Id : 97675532705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa=ftar = arut goft &1 U fagTe 10 Ufa=rd ufd o, Ueh-AuTs 15 Ufa=id ufaas ok 2y 20 Ufa=rd ufaas wremor s R FHaw fean | afe
1 98 & §I¢ $dl TS & &9 H 98 740 TUT YT Bl 5 , Al 3! Yoht 7 82
Options :

1. % 5400 ¥0Y
2. % 6000 =T
3. ¢ 4800 ®UY
4. % 7200 &0

Question Number : 104 Question Id : 97675532706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Akhilesh goes to school at a speed of 6 kmph and returns to the home at a speed of 4 kmph. If he takes 5 hours in all, then what is the distance
between his home and the school?

Options :

1. ®* 18 km
2.% 12 km
3. % 8 km



4. % 10 km

Question Number : 104 Question Id : 97675532706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R 6 et Ufe B B 71Tl & et Wl & 3R 4 bt Ul € 1 ify & =R Aear 81 afe a8 a5 6e AaT 8, o) SHP W IR W &
da B g A g?

Options :

1. % 18 foprit

2. ¢ 12 ot

3. % g fopdt

4. % 10 forit

Question Number : 105 Question Id : 97675532707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A swimmer covers a distance of 56 km against the current and 80 km in the direction of the current. If in each case he takes 8 hrs, then the speed
of the current is:

Options :

1. #* 3.5 km/hr
2. % 1.5 km/hr
3. % 2.5 km/hr
4. % 2 km/hr

Question Number : 105 Question Id : 97675532707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬂ%@g%%%m%ﬁuﬂmémﬁﬁsﬁvwﬁmﬁ 80 foprit @) gt 70 FRar 7 | afe vl fRUf o ag 8 9 qar g, af umT
Options:.

1. % 3.5 foHl/der

2. ¢ 1.5 fHier



3. % 2 5 fpdl/der
4. % 7 fopdiaer

Question Number : 106 Question Id : 97675532708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Usha beats Palak in one kilometer race by 50 seconds and Palak beats Lata by 40 seconds in the same race. Usha beats Lata by 450 meter in a
race of one kilometer. How much time Lata takes to run a kilometer?

Options :

1. ¥ 200 seconds
2. % 150 seconds
3. # 110 seconds
4. % 120 seconds

Question Number : 106 Question Id : 97675532708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

VI, U P U fPalHIe B Gl H 50 Jbs J B! & 3R Udd 3T SIS | AdT BT 40 Yobs A &1 8| U [PailHie B are H SHu A
T BT 450 Hiex J g1 U fpaidier g | a1 &) fva1 I9g o g2

Options :

1. ¥ 200 Y s
2. % 150 hs
3. % 110 Yhs
4. % 1209 S

Question Number : 107 Question Id : 97675532709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 6 men or 8 women can dig a well in 43 days, then how long will 7 men and 5 women take to dig it?
Options :

1. # 20 days

2. % 24 days



3. % 32 days
4. % 27 days

Question Number : 107 Question Id : 97675532709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 6 TN 7 8 Aigad 43 foi & T P31 Wig Tobd 8, dl 7 T2 iR 5 Aiand 38 Wiea § fora a9 ae
Options :

1. % 2037

2. ¢ 24 fq

3. % 32fdH

4. % 27fq

Question Number : 108 Question Id : 97675532710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram and Lakhan together can do a piece of work in 12 days which Lakhan and kishan together can do in 16 days. After Ram has been working
on it for 5 days and Lakhan for 7 days, kishan finishes it in 13 days. In how many days could kishan do the whole work alone?

Options :

1. # 30 days
2. % 28 days
3. ¥ 24 days
4. % 27 days

Question Number : 108 Question Id : 97675532710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3R TG TP 1Y forlt 1 BT 12 o1 & RT R bl & o1t a6 3R fh e sy 16 fol 7 1 ok Iahd 81 W & 5 fa 3R
A & 7 G BT B & a1e , fbxe A 39 13 a1 & OR1 o | fh=m 3ot fohaa 1 T &1H &1 R1 - Adha UM

Options :

1. % 30feq

2. % 28feq




3. ¢ 241
4. % 71T

Question Number : 109 Question Id : 97675532711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N men can do a work in 30 days. If there were 8 men more it could be finished in 5 days less. What is the value of N?
Options :

1. * 50

2.9 40

3. % 70

4. % 20

Question Number : 109 Question Id : 97675532711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N G it &1 1 30 fol TR Tobal &1 afe 8 T 3ifies 1 ol 39 5 o oo v QR foban o1 el 4TI N 1 HIF 182
Options :

1. % 50

2.¥ 40

3. % 70

4. % 20

Question Number : 110 Question Id : 97675532712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C are three pipes attached to a tank. A and B can fill it in 20 and 30 minutes respectively, while C can empty it in 15 minutes. If A, B and C
be kept open successively for 2 minutes each,then find the time to fill the tank.

Options :
1. # 180 min.
2. % 150 min.

3. % 165 min.



4. % 154 min.

Question Number : 110 Question Id : 97675532712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,B,CU®H CH YIS T UIRU | A 3R B T HHL: 20 3R 30 e H 1R IHhd €, S ¢ 9 15 e T Wit R Ao g 1 afe A, B
3R € UAP Bl HHY: 2 e & e TR aRt A WATSar g, df b bl 4R | T JHY J1d HIfod |

Options :

1. % 180 e

2. % 150 e

3. % 1650

4. 154 BFe

Question Number : 111 Question Id : 97675532713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Base of a prism is a rectangle, the ratio of whose length and breadth is 3: 2. If the height of the prism is 12 cm and total surface area is 288 sq.
cm.,then what is the volume of the prism?

Options :

1. # 272 cubic cm
2. ¥ 288 cubic cm
3. % 290 cubic cm
4. % 286 cubic cm

Question Number : 111 Question Id : 97675532713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fISH &1 SR 1A ©, Orid dars 3R WeTs &1 31U 3: 2 31 3 e &1 Sams 12 It 3R Fof Tag &1 &7 d 288 a7 it 8, I
fOre™ 1 ST T 82

Options :

1. % 272 9 9!

2. ¥ 288 I I




3. % 290 g9 A
4. % 286 99 IHI

Question Number : 112 Question Id : 97675532714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The volume of a rectangular block of stone is 384 cubic cm. Its dimensions are in the ratio of 3 : 2 : 1. If its entire surface is polished at Rs. 5 per
sq. cm, then what will be the total expense of polishing?

Options :

1. ¥ Rs. 1760
2. % Rs. 1290
3. ¥ Rs. 1625
4, % Rs. 2155

Question Number : 112 Question Id : 97675532714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & U MTIATHR sl BT T 384 T T § 1 3P SMTATH 3: 2: 1 & U | & | A 39! I ag &l 5 Tw ufg f St pr a»
3 TiferT fopam SiTel &, o Uiferst v & o o9 1 {1t gt

Options :

1. ¥ 1760 =04
2. % 1290 ®GY
3. % 1625 0
4. % 2155 %0y

Question Number : 113 Question Id : 97675532715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of the areas of two circles, which touch each other externally is 153 & sq. cm. If the sum of their radii is 15 cm, then find the ratio of the
larger radius to the smaller radius.

Options :
1.9 41



2.% 21
3.% 3:2
4. % 5:2

Question Number : 113 Question Id : 97675532715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& g & &FHE! BT ANT 153 7 I ! g S Uh GIR 1 STel W= Hd & | Afe ST BHoan &1 an 15 Wit 8, Y 98 fBsan sik Bie B &1
3IUT 1 BT

Options :

1.¥4:1
2. % 2:1
3.% 3:2
4. % 5:2

Question Number : 114 Question Id : 97675532716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference between the area of a regular hexagon inscribed in the circle of radius 14 cm and the area of the circle?
Options :

| % 616 -254y/3cm?

5 % 616 -224+/3cm?
3. % 616 - 269v/3em?

4« 616 -2944/3cm?

Question Number : 114 Question Id : 97675532716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
14 99t B & g7 § of: FAftfd weys iR SR 99 & &% d & o9 iR F1 82

Options :

L% 616 - 254¢/3 THR
, % 616 -224/3 JHR
3 % 616 - 2693 THI
4 @ 616 -294y/3 THR

Question Number : 115 Question Id : 97675532717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie chart and table carefully to answer the question.

Degree-wise breakup of employees working in various departments of an organization and the ratio of men to women



Total Number of Employees=3250

Accounts Productio
Departme n

nt

Marketing
Deptartm 136.80°
ent 79.20°
HR
Departme
37.60° nt 36°
Respective Ratio of Men to Women
in Each Department
Department Men Women

Production 4 1

HE 12 13

IT 7 3

MMarketing 3 2

Accounts & i

What is the number of men working in the Marketing department?
Options :
1. % 462
2. % 454
3. % 418
4. ¥ 429



Question Number : 115 Question Id : 97675532717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T BT IR o & o FHaferiad urg ard 3R a1feiss! &1 eamydes 31T Hiforg|
TP GRIT & fafia faumn & o s ara wanial @1 f$3ft-ar faavor aur goul sk afearsi &1 srqurd
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Options :
1. ® 462



2. % 454
3. % 418
4.9 429

Question Number : 116 Question Id : 97675532718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie chart and table carefully to answer the question.

Degree-wise breakup of employees working in various departments of an organization and the ratio of men to women



Total Number of Employees=3250

Accounts Productio
Departme n

nt

Marketing
Deptartm 136.80°
ent 79.20°
HR
Departme
37.60° nt 36°
Respective Ratio of Men to Women
in Each Department
Department Men Women

Production 4 1

HE 12 13

IT 7 3

MMarketing 3 2

Accounts & 7

What is the respective ratio of the number of women working in the HR department and the number of men working in the IT department?
Options :

1.% 11:12

2. % 17:29

3.9 13:28

4. % 12:35



Question Number : 116 Question Id : 97675532718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T BT IR o & o FHaferiad urg ard 3R a1feiss! &1 eamydes 31T Hiforg|
TP GRIT & fafia faumn & o s ara wanial @1 f$3ft-ar faavor aur goul sk afearsi &1 srqurd
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Options :
1.%¥11:12



2. % 17:29
3.9 13:28
4. % 12:35

Question Number : 117 Question Id : 97675532719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie chart and table carefully to answer the question.

Degree-wise breakup of employees working in various departments of an organization and the ratio of men to women



Total Number of Employees=3250

Accounts Productio
Departme n

nt

Marketing
Deptartm 136.80°
ent 79.20°
HR
Departme
37.60° nt 36°
Respective Ratio of Men to Women
in Each Department
Department Men Women

Production 4 1

HE 12 13

IT 7 3

MMarketing 3 2

Accounts & 7

The number of men working in the Production department of the organization forms what percent of the total number of employees working in
that department?

Options :
1. # 88
2. % 90
3. %75
4. ¥ 30



Question Number : 117 Question Id : 97675532719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ty 1 IR 4 & forg Fgfafad o ard 3R arferet &1 emgde sreaaH Hifog|
T SR & A faumm & o1 w1 ara wrfval @) fElf-ar faaror aur geul ok afgansit &1 srqurda
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Options :
1. % 88



2.% 90
3. % 75
4.+ 80

Question Number : 118 Question Id : 97675532720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie chart and table carefully to answer the question.

Degree-wise breakup of employees working in various departments of an organization and the ratio of men to women



Total Number of Employees=3250

Accounts Productio
Departme n

nt

Marketing
Deptartm 136.80°
ent 79.20°
HR
Departme
37.60° nt 36°
Respective Ratio of Men to Women
in Each Department
Department Men Women

Production 4 1

HE 12 13

IT 7 3

MMarketing 3 2

Accounts & 7

The number of women working in the IT department of the organization forms what percent of the total number of employees in the organization
from all departments together?

Options :
1. % 32
2.9 438
3. % 63
4. % 56



Question Number : 118 Question Id : 97675532720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ty 1 IR 4 & forg Fgfafad o ard 3R arferet &1 emgde sreaaH Hifog|
T SR & A faumm & o1 w1 ara wrfval @) fElf-ar faaror aur geul ok afgansit &1 srqurda
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Options :
1. % 32
2.9 438



3. % 6.3
4. %56

Question Number : 119 Question Id : 97675532721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following frequency bar graph shows the number of person wearing different colour shirts in an interview.

25

21

20

15

[ ]

Red Black White Blue

B Frequency

If a person is selected in the interview, then what will be the probability that he is wearing red or white shirt?
Options :

1. ¥ 20/57

2. % 28/57

3. %1027

4. % 4/57

Question Number : 119 Question Id : 97675532721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ 20/57
2. ® 28/57
3. % 10/27
4. ® 4/57

Question Number : 120 Question Id : 97675532722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following frequency bar graph shows the number of person wearing different colour shirts in an interview.
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What is the probability that a person attending in the interview will not wear blue or white shirt?
Options :

1. ® 8/57

2. ¥ 28/57

3. % 7/19

4. % 29/57

Question Number : 120 Question Id : 97675532722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 8/57
2. ¥ 28/57
3. % 7/19
4. % 29/57
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Is this Group for Examiner? : No

General English1
Section Id : 9767551690
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551977
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 97675532723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Indeed, many workers employed with construction sights are still walking towards their villages having started before the lockdown.
Options :

1. # Indeed, many workers employed

2. ¥ with construction sights are still walking towards

3. % their villages having started before the lockdown.

4. % No Error

Question Number : 121 Question Id : 97675532723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate



option. If a sentence is free from error, select 'No Error'.

Indeed, many workers employed with construction sights are still walking towards their villages having started before the lockdown.
Options :

1. # Indeed, many workers employed

2. ¥ with construction sights are still walking towards

3. % their villages having started before the lockdown.

4. ® No Error

Question Number : 122 Question Id : 97675532724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Rajive is working with his team to design and for deploy experiments that will refine the survey technique for questions about religious disbelief.
Options :

1. ® Rajive is working with his team to design

2. ¥ and for deploy experiments that will refine the survey

3. # technique for questions about religious disbelief.

4. ® No Error

Question Number : 122 Question Id : 97675532724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Rajive is working with his team to design and for deploy experiments that will refine the survey technique for questions about religious disbelief.
Options :

1. # Rajive is working with his team to design

2. ¥ and for deploy experiments that will refine the survey

3. % technique for questions about religious disbelief.

4. ® No Error



Question Number : 123 Question Id : 97675532725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Some people may feel different levels of social pressure when it comes to admit atheism, even anonymously.
Options :

1. # Some people may feel different levels

2. # of social pressure when it comes to

3. % admit atheism, even anonymously.

4. % No Error

Question Number : 123 Question Id : 97675532725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Some people may feel different levels of social pressure when it comes to admit atheism, even anonymously.
Options :

1. ¥ Some people may feel different levels

2. # of social pressure when it comes to

3. ¥ admit atheism, even anonymously.

4. % No Error

Question Number : 124 Question Id : 97675532726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Home owners often provide the easiest of targets for those who deplore with the creeping urbanization of the countryside.



Options :

1. ® Home owners often provide the easiest

2. ¥ of targets for those who deplore with

3. # the creeping urbanization of the countryside.
4. % No Error

Question Number : 124 Question Id : 97675532726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Home owners often provide the easiest of targets for those who deplore with the creeping urbanization of the countryside.
Options :

1. ¥ Home owners often provide the easiest

2. % of targets for those who deplore with

3. % the creeping urbanization of the countryside.

4. ® No Error

Question Number : 125 Question Id : 97675532727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Many countries are draining water from aquifers faster from those aquifers can replenish themselves.
Options :

1. ® Many countries are draining water

2. ¥ from aquifers faster from those aquifers

3. # can replenish themselves.

4. % No Error

Question Number : 125 Question Id : 97675532727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Many countries are draining water from aquifers faster from those aquifers can replenish themselves.
Options :

1. % Many countries are draining water

2. ¥ from aquifers faster from those aquifers

3. % can replenish themselves.

4. % No Error

Question Number : 126 Question Id : 97675532728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

She looked just as frightened so I felt, but I chose to remain calm and emotionless.
Options :

1. ¥ as frightened as

2. #* much frightened so

3. # so frightening as

4. % No improvement

Question Number : 126 Question Id : 97675532728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

She looked just as frightened so I felt, but I chose to remain calm and emotionless.

Options :
1. ¥ as frightened as



2. # much frightened so
3. % so frightening as

4. ¥ No improvement

Question Number : 127 Question Id : 97675532729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

In most areas of the states, new home prices continue to rising or remaining as they were last year.

Options :

1. #* to rise or remaining as
2. % to rise or remain as

3. # to rising or remain as

4. ¥ No improvement

Question Number : 127 Question Id : 97675532729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

In most areas of the states, new home prices continue to rising or remaining as they were last year.
Options :

1. # to rise or remaining as

2. % to rise or remain as

3. % to rising or remain as

4. ¥ No improvement

Question Number : 128 Question Id : 97675532730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Daren moved and than got up and start towards the door not saying anything to Kristen.
Options :

1. #* then got up and starting

2. % than get up and start

3. ¥ then got up and started

4. % No improvement

Question Number : 128 Question Id : 97675532730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Daren moved and than got up and start towards the door not saying anything to Kristen.
Options :

1. # then got up and starting

2. # than get up and start

3. % then got up and started

4. ¥ No improvement

Question Number : 129 Question Id : 97675532731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The trees, which have been chopped down but not uprooted, have been replaced by new turf.
Options :

1. # has been replaced by
2. % have been replace in

3. * has being replaced at



4. ¥ No improvement

Question Number : 129 Question Id : 97675532731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The trees, which have been chopped down but not uprooted, have been replaced by new turf.

Options :

1. # has been replaced by
2. # have been replace in
3. % has being replaced at

4. ¥ No improvement

Question Number : 130 Question Id : 97675532732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

When the vegetation is altered, the animal life also changed.
Options :

1. # changed

2. % also changes

3. % is changing

4. ¥ No substitution required

Question Number : 130 Question Id : 97675532732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.



When the vegetation is altered, the animal life also changed.
Options :

1. # changed

2. % also changes

3. # is changing

4. # No substitution required

Question Number : 131 Question Id : 97675532733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

All are covered with undercoat, of which a great deal remains, of a copper-red colour.
Options :

1. ¥ an

2. % a

3. % the

4. ¥ No article is needed

Question Number : 131 Question Id : 97675532733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

All are covered with undercoat, of which a great deal remains, of a copper-red colour.
Options :

1. ¥ an

2. % a

3. % the

4. % No article is needed

Question Number : 132 Question Id : 97675532734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

His interpretation of literary texts and memoirs, especially those from the nineteenth century, masterful.
Options :

1. # are

2.¥ is

3. # were

4. ® has

Question Number : 132 Question Id : 97675532734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

His interpretation of literary texts and memoirs, especially those from the nineteenth century, masterful.
Options :

1. % are

2.9 is

3. % were

4. # has

Question Number : 133 Question Id : 97675532735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

It would have taken a huge effort for the president to reach home he had decided to come.
Options :

1. #* as aresult of

2. % whether if

3. ¥ even if



4. % despite of

Question Number : 133 Question Id : 97675532735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

It would have taken a huge effort for the president to reach home he had decided to come.
Options :

1. #* as aresult of

2. % whether if

3. % cven if

4. # despite of

Question Number : 134 Question Id : 97675532736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The topography of the country ranges from low rolling hills in the north very flat terrain or gentle sloping ridges in the south.
Options :

1. % at

2. % on

3. % in

4. % to

Question Number : 134 Question Id : 97675532736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The topography of the country ranges from low rolling hills in the north very flat terrain or gentle sloping ridges in the south.
Options :



1. # at
2. ¥ on
3. % in

4. % to

Question Number : 135 Question Id : 97675532737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

A grape vine needs five years to come into commercial production, leasing is not a practical option.
Options :

1. ¥ so

2. % for

3. % as

4. # than

Question Number : 135 Question Id : 97675532737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

A grape vine needs five years to come into commercial production, leasing is not a practical option.
Options :

1. ¥ so

2. % for

3. % as

4. % than

Question Number : 136 Question Id : 97675532738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.



A. Never before has a pathogen sent a prime minister and a prince

B. left its survivors with mild aches and

C. into quarantine and set free prisoners, divided families and united humankind,
D. killed its victims with no choice of defence

Options :

1. ¥ ABCD
2. ¥ ACBD
3. % ADBC
4. % ACDB

Question Number : 136 Question Id : 97675532738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. Never before has a pathogen sent a prime minister and a prince

B. left its survivors with mild aches and

C. into quarantine and set free prisoners, divided families and united humankind,
D. killed its victims with no choice of defence

Options :

1. ¥ ABCD
2. % ACBD
3. % ADBC
4. % ACDB

Question Number : 137 Question Id : 97675532739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. the lockdown’s initial days

B. native villages and disruption in supply chains of essential commodities highlight
C. the teething troubles that have accompanied

D. A massive movement of migrant laborers back to their



Options :

1. # DABC
2. # DCBA
3. ¥ DBCA
4. ¥ DBAC

Question Number : 137 Question Id : 97675532739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. the lockdown’s initial days

B. native villages and disruption in supply chains of essential commodities highlight
C. the teething troubles that have accompanied

D. A massive movement of migrant laborers back to their

Options :

1. # DABC
2. # DCBA
3. ¥ DBCA
4. ¥ DBAC

Question Number : 138 Question Id : 97675532740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. This is by far, the biggest crisis of its kind in living memory.

B. At one level, all of humanity should be united in such a profound moment of crisis.

C. To the virus, the human body is simply a potential host, and it uses its very limited arsenal of tricks to devastating effect in hijacking the
mechanisms of the human body against itself.

D. No other event comes close in terms of scale and sweep of its embrace in the last 100 years.

Options :

1. * ADCB

2. ® ABCD



3. ¥ ACDB
4. % ADBC

Question Number : 138 Question Id : 97675532740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. This is by far, the biggest crisis of its kind in living memory.

B. At one level, all of humanity should be united in such a profound moment of crisis.

C. To the virus, the human body is simply a potential host, and it uses its very limited arsenal of tricks to devastating effect in hijacking the
mechanisms of the human body against itself.

D. No other event comes close in terms of scale and sweep of its embrace in the last 100 years.

Options :

1. ¥ ADCB
2. % ABCD
3. % ACDB
4. ¥ ADBC

Question Number : 139 Question Id : 97675532741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Further, the protective measures even in Europe, which put a quota system on our steel, added to the problem.

B. Then the trade wars and disruptions in international trade came in the form of duties on Indian aluminum and steel products.
C. This year (2019-20), we were all set to cross $85 billion with the way things were going.

D. Last year, we touched $81 billion in engineering exports, as against $76 billion achieved in the previous year.

Options :

1. ¥ DCBA
2. % DCAB
3. ¥ DBCA
4. % DACB



Question Number : 139 Question Id : 97675532741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Further, the protective measures even in Europe, which put a quota system on our steel, added to the problem.

B. Then the trade wars and disruptions in international trade came in the form of duties on Indian aluminum and steel products.
C. This year (2019-20), we were all set to cross $85 billion with the way things were going.

D. Last year, we touched $81 billion in engineering exports, as against $76 billion achieved in the previous year.

Options :

1. ¥ DCBA
2. % DCAB
3. % DBCA
4. % DACB

Question Number : 140 Question Id : 97675532742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Supremacy
Options :

1. * Consideration
2. % Dominion

3. % Constraint

4. * Volatility

Question Number : 140 Question Id : 97675532742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Supremacy
Options :



1. * Consideration
2. % Dominion
3. %* Constraint
4. * Volatility

General English2
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Group Id : 9767551237
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
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Section Id : 9767551691
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Sub-Section Id : 9767551978
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 97675532743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Magnanimity
Options :

1. % Selfishness

2. # Indulgence

3. % Charitableness

4. % Meanness

Question Number : 141 Question Id : 97675532743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Magnanimity
Options :

1. # Selfishness

2. # Indulgence

3. % Charitableness

4. % Meanness

Question Number : 142 Question Id : 97675532744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Opinionated
Options :

1. # Assertive
2. # Dictatorial

3. % Dogmatic



4. ¥ Open-minded

Question Number : 142 Question Id : 97675532744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Opinionated
Options :

1. # Assertive

2. # Dictatorial

3. * Dogmatic

4. ¥ Open-minded

Question Number : 143 Question Id : 97675532745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Tenacious
Options :

1. % Irresolute
2. # Persistent
3. ¥ Immovable

4. ¥ Unwavering

Question Number : 143 Question Id : 97675532745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Tenacious
Options :



1. ¥ Trresolute
2. * Persistent
3. * Immovable

4. ¥ Unwavering

Question Number : 144 Question Id : 97675532746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Reduction

2. ¥ Mildeness

3. # Tenderness

4. # Elementary

Question Number : 144 Question Id : 97675532746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Reduction

2. ¥ Mildeness

3. # Tenderness

4. # Elementary

Question Number : 145 Question Id : 97675532747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Embarrassment

2. # Trrefutable



3. % Forbearence

4. ¥ Explanatory

Question Number : 145 Question Id : 97675532747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Embarrassment

2. # Irrefutable

3. % Forbearence

4. # Explanatory

Question Number : 146 Question Id : 97675532748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Graciousness

2. ® Procreation

3. # Retardation

4. ¥ Servicebility

Question Number : 146 Question Id : 97675532748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Graciousness

2. # Procreation

3. # Retardation

4. ¥ Servicebility



Question Number : 147 Question Id : 97675532749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. % Humanitarinism

2. % Remuneration

3. # Divisibility

4. % Deforestation

Question Number : 147 Question Id : 97675532749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Humanitarinism

2. % Remuneration

3. # Divisibility

4. % Deforestation

Question Number : 148 Question Id : 97675532750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

I'm prepared to do some cosmetic fixes on our new home, but I draw a line at major renovation.
Options :

1. % To finish

2. ¥ To set a boundary

3. # To renovate

4. % To conclude



Question Number : 148 Question Id : 97675532750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

I'm prepared to do some cosmetic fixes on our new home, but I draw a line at major renovation.
Options :

1. # To finish

2. ¥ To set a boundary

3. # To renovate

4. % To conclude

Question Number : 149 Question Id : 97675532751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four options, select the one that best expresses the meaning of the idiom/phrase.

Cut the mustard.

Options :

1. % To fulfil expectations and do a good job.

2. % To reduce expenses.

3. * To understand the details of an extensive subject.

4. # To come to the main point of a discussion.

Question Number : 149 Question Id : 97675532751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four options, select the one that best expresses the meaning of the idiom/phrase.

Cut the mustard.
Options :
1. ¥ To fulfil expectations and do a good job.



2. % To reduce expenses.
3. % To understand the details of an extensive subject.

4. ® To come to the main point of a discussion.

Question Number : 150 Question Id : 97675532752 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

To beat the clock

Options :

1. # To be ahead in competition

2. # To be unwilling to compromise
3. # To emerge as a winner

4. ¥ Finish task before deadline

Question Number : 150 Question Id : 97675532752 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

To beat the clock

Options :

1. # To be ahead in competition

2. % To be unwilling to compromise
3. # To emerge as a winner

4. ¥ Finish task before deadline

Question Number : 151 Question Id : 97675532753 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Weather the storm

Options :

1. ¥ To endure hardship

2. # To pass an examination
3. # To remain unchanged

4. % To complain

Question Number : 151 Question Id : 97675532753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Weather the storm

Options :

1. ¥ To endure hardship

2. # To pass an examination
3. # To remain unchanged

4. # To complain

Question Number : 152 Question Id : 97675532754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A disease prevalent over a whole country or the world.
Options :

1. # Epidemic

2. % Pandemic

3. ¥ Endemic

4. % Cosmic

Question Number : 152 Question Id : 97675532754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A disease prevalent over a whole country or the world.
Options :

1. % Epidemic

2. ¥ Pandemic

3. % Endemic

4. % Cosmic

Question Number : 153 Question Id : 97675532755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person or animal feeding on a variety of food of both plant and animal origin.
Options :

1. % Herbivorous

2. % Carnivorous

3. ¥ Omnivorous

4. # Frugivorous

Question Number : 153 Question Id : 97675532755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person or animal feeding on a variety of food of both plant and animal origin.
Options :

1. # Herbivorous

2. % Carnivorous

3. % Omnivorous

4. % Frugivorous



Question Number : 154 Question Id : 97675532756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Tending to induce drowsiness or sleep.
Options :

1. # Narcotic

2. % Anesthetic

3. % Analgesic

4. ¥ Soporific

Question Number : 154 Question Id : 97675532756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Tending to induce drowsiness or sleep.
Options :

1. # Narcotic

2. % Anesthetic

3. # Analgesic

4. ¥ Soporific

Question Number : 155 Question Id : 97675532757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person filled with excessive and single-minded zeal, especially for an extreme religious or political cause.
Options :
1. ¥ Fanatic



2. % Activist
3. # Venial

4. ¥ Maniac

Question Number : 155 Question Id : 97675532757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person filled with excessive and single-minded zeal, especially for an extreme religious or political cause.
Options :

1. ¥ Fanatic

2. % Activist

3. % Venial

4. # Maniac

Sub-Section Number : 2
Sub-Section Id : 9767551979
Question Shuffling Allowed : Yes

Question Id : 97675532758 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the passage carefully and select the best answer to each question out of the given four alternatives.

The Munich massacre was an attack during the 1972 Summer Olympics in Munich, West Germany, in which the Palestinian terrorist group Black
September took eleven Israeli Olympic team members hostage and killed them along with a West German police officer. Shortly after the crisis
began, a Black September spokesman demanded that 234 Palestinian prisoners jailed in Israel and the West German—held founders of the Red
Army Faction, Andreas Baader and Ulrike Meinhof, be released. Black September called the operation "Iqrit and Biram", after two Palestinian
Christian villages whose inhabitants were expelled by the Israel Defense Forces (IDF) during the 1948 Arab—Israeli War. The Black September
commander, Luttif Afif, was born to Jewish and Christian parents.

His group was associated with secular nationalism, working for the rights of Palestinians in Israel. West German neo-Nazis gave the group
logistical assistance. Police officers killed five of the eight Black September members during a failed attempt to rescue the hostages. A West
German policeman was also killed in the crossfire. The other three Palestinian hijackers were captured. The next month, however, following the
hijacking of Lufthansa Flight 615, the West German government released them in a hostage exchange. Mossad responded with the 1973 Israeli



raid on Lebanon and Operation Wrath of God, tracking down and killing Palestinians suspected of involvement in the Munich massacre.

Two days prior to the start of the 2016 Summer Olympics, in a ceremony led by Brazilian and Israeli officials, the International Olympic
Committee honored the eleven Israelis that were killed at Munich. The German weekly news magazine Der Spiegel wrote in a 2012 cover story
that the West German authorities had a tip-off from a Palestinian informant in Beirut three weeks before the massacre. The informant told West
Germany that Palestinians were planning an "incident" at the Olympic Games, and the Foreign Ministry in Bonn viewed the tip-off seriously
enough to pass it to the secret service in Munich and urge that "all possible security measures" be taken.

Sub questions

Question Number : 156 Question Id : 97675532759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who provided the logistical assistance to the group Black September?
Options :

1. # Palestinian Christians

2. % Commander Luttif Afif

3. ¥ West German neo-Nazis

4. % Tsrael Defense Forces

Question Number : 157 Question Id : 97675532760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was Andreas Baader?

Options :

1. # Founder of Black September

2. # Israel Olympic Team’s coach

3. % One of the founders of the Red Army Faction
4. ¥ Deputy Director of Mossad

Question Number : 158 Question Id : 97675532761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The West German authorities got a tip-off from a source three weeks before the massacre. Where did the authorities get it?
Options :



1. * Palestine
2. % Beirut
3. #* TIsrael

4. % Lebanon

Question Number : 159 Question Id : 97675532762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Operation Wrath of God was conducted by—
Options :

1. # Palestine

2. % IDF

3. % Both Arab and Israel

4. ¥ Mossad

Question Number : 160 Question Id : 97675532763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the commander of the terrorist group Black September at the time of Munich Massacre?
Options :

1. # Mossad

2. # Ulrike Meinhof

3. % Biram

4. ¢ Luttif Afif

Question Id : 97675532758 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the passage carefully and select the best answer to each question out of the given four alternatives.

The Munich massacre was an attack during the 1972 Summer Olympics in Munich, West Germany, in which the Palestinian terrorist group Black
September took eleven Israeli Olympic team members hostage and killed them along with a West German police officer. Shortly after the crisis
began, a Black September spokesman demanded that 234 Palestinian prisoners jailed in Israel and the West German—held founders of the Red



Army Faction, Andreas Baader and Ulrike Meinhof, be released. Black September called the operation "Igrit and Biram", after two Palestinian
Christian villages whose inhabitants were expelled by the Israel Defense Forces (IDF) during the 1948 Arab—Israeli War. The Black September
commander, Luttif Afif, was born to Jewish and Christian parents.

His group was associated with secular nationalism, working for the rights of Palestinians in Israel. West German neo-Nazis gave the group
logistical assistance. Police officers killed five of the eight Black September members during a failed attempt to rescue the hostages. A West
German policeman was also killed in the crossfire. The other three Palestinian hijackers were captured. The next month, however, following the
hijacking of Lufthansa Flight 615, the West German government released them in a hostage exchange. Mossad responded with the 1973 Israeli
raid on Lebanon and Operation Wrath of God, tracking down and killing Palestinians suspected of involvement in the Munich massacre.

Two days prior to the start of the 2016 Summer Olympics, in a ceremony led by Brazilian and Israeli officials, the International Olympic
Committee honored the eleven Israelis that were killed at Munich. The German weekly news magazine Der Spiegel wrote in a 2012 cover story
that the West German authorities had a tip-off from a Palestinian informant in Beirut three weeks before the massacre. The informant told West
Germany that Palestinians were planning an "incident" at the Olympic Games, and the Foreign Ministry in Bonn viewed the tip-off seriously
enough to pass it to the secret service in Munich and urge that "all possible security measures" be taken.

Sub questions

Question Number : 156 Question Id : 97675532759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who provided the logistical assistance to the group Black September?
Options :

1. # Palestinian Christians

2. % Commander Luttif Afif

3. ¥ West German neo-Nazis

4. % Tsrael Defense Forces

Question Number : 157 Question Id : 97675532760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was Andreas Baader?

Options :

1. # Founder of Black September

2. # Israel Olympic Team’s coach

3. % One of the founders of the Red Army Faction
4. ¥ Deputy Director of Mossad



Question Number : 158 Question Id : 97675532761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The West German authorities got a tip-off from a source three weeks before the massacre. Where did the authorities get it?
Options :

1. % Palestine

2. ¥ Beirut

3. % TIsrael

4. % Lebanon

Question Number : 159 Question Id : 97675532762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Operation Wrath of God was conducted by—
Options :

1. % Palestine

2. % IDF

3. ¥ Both Arab and Israel

4. ¥ Mossad

Question Number : 160 Question Id : 97675532763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the commander of the terrorist group Black September at the time of Munich Massacre?
Options :

1. % Mossad

2. # Ulrike Meinhof

3. # Biram

4. ¥ Luttif Afif
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Question Number : 161 Question Id : 97675532764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & ¥ SIH-I1 IGe JH $T 3STER0T el 22
Options :

1. * ]RUMTI

2. % AU



3. % TONTRIC]
4. ¢ 3fTSia

Question Number : 161 Question Id : 97675532764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffRed o @ SH-91 aagey THY H1 ISER0 g 82
Options :

1. % RRUMTd

2. % IR

3. % TN

4.« 3Toiia

Question Number : 162 Question Id : 97675532765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrefefea & 9 rwgedl # -1 9fer g2

Question Number : 162 Question Id : 97675532765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffRad o O rwEierdl # -t i g2

Options :



4. % TR

Question Number : 163 Question Id : 97675532766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R RITRE & 9 e Y13 1 T -
Options :

1. # gddR

2. % 3

3.V IS

4. % 3TREID

Question Number : 163 Question Id : 97675532766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfafRed ® 9 "aqH" g &1 99 BHIfoTe-
Options :

1. ® gddR

2. % 3

3. ¢ 3Tad

4, % ITRED

Question Number : 164 Question Id : 97675532767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAefoRad # @ o1F-91 a1eg fgwde fohar o1 Iererur g2
Options :

1. ¢ IS - BT B! XD |

2. % YA JHET /15

3. % ThY WPpd S5

4. % g WA g |




Question Number : 164 Question Id : 97675532767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfRd o 9§ HH-91 ar fgdh e fohaT o1 3eTeRul 82
Options :

1. ¢ HUD - B B! AP ¢l

2. % YA JHET /15

3. % AIHTHA A8l

4. % JgA VAT g |

Question Number : 165 Question Id : 97675532768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafead § @ qEvaras WM BT 38180l SHIH-971 761 /2
Options :

1. % 3G g3 gl UT fob JH UG 351 B

2. % T Ul g fuamh ¥%d ™ g1

3. % gD gar 1t § TR U fram TN R

4. SN U BT Hd I Bl |

Question Number : 165 Question Id : 97675532768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e @ evare a4 BT 260 HH-91 781 82
Options :

1. % 39 4 He U1 o T Ug & &1

2. % T a1 g fdmel ¥d W |

3. % gH®! uar Ht § TR U o TR R

4. S HH HJM Bd ST D T



Question Number : 166 Question Id : 97675532769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFeffed & 9 SiH-31 Weq " SigfRfY o1 gafgar T8l 82
Options :

1 % R

2. % ey

3.¢9°Y

4. % JIR

Question Number : 166 Question Id : 97675532769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrfaRad & @ SH-91 Treg "igHer &1 yafgard 751 82
Options :

L% YR

2. % Sl

3.¢Y

4, % gIR

Question Number : 167 Question Id : 97675532770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFeffed & § "I &1 faeiid e 1 52

Options :

1. ® gammHT
2. SN
3. % feem
4. % SFTIYT

Question Number : 167 Question Id : 97675532770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frfaRed & @ et &1 fae wee w82
Options :

1. % Qo

2. ¢ YT

3. % fegm

4. % 3JuHdd

Question Number : 168 Question Id : 97675532771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=R O 9 g e &1 I8+ Pifort-
Options :

1. % DA

2. % yrifes

3. ¥ Ppdpd

4, % 3grferep

Question Number : 168 Question Id : 97675532771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feffed o T Yg Wsg &1 98 Hife-
Options :

1. % SR

2. ® YTHi®

3. ¥ pddpd

4. % 3fTSTicTenT

Question Number : 169 Question Id : 97675532772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fmferiRad 7 ¥ AT T8 are o e Swied Weg &1 994 Hifo-
30 P! Ufed AT

Options :

1. ¢ Ufsqm=g
2. % fOgeRt
3. % 3frEg
4, % dfearsd

Question Number : 169 Question Id : 97675532772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmfad & 3 fau 7T a1 & fore Sudad <ree &1 99 Sifor-
30 &1 Ufed AF-aTe-

Options :

1. ¢ Ufeqm=g
2. % fOgTer
3. % 3ETa
4. % Ufgarsd

Question Number : 170 Question Id : 97675532773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfafed O T oR[g Wsg &1 I8 HIFL-
Options :

1. % a9

2. ¢ WO

3. % quraal

4. % gfo=smn



Question Number : 170 Question Id : 97675532773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feTferiad & U SIS Xea BT T BifoiL-
Options :

1. #® 9did

2. ¥ WS

3. % quraal

4. % yfa=sman

Question Number : 171 Question Id : 97675532774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fafad 3 F "eRR" o1 T weg @ 82
Options :

1. % 3fHt

2. % fad

3. % UIgH

4. % I

Question Number : 171 Question Id : 97675532774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=ferfad & § "R o1 HHT weg Fm 82
Options :

1. % 3l

2. % foq

3. % UIgH

4. % @9



Question Number : 172 Question Id : 97675532775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRad A T SRRTd/dHd Xeg &1 I DioTu-
Options :

1. ¥ g

2. % AR

3. ¥ AR

4. % DDl

Question Number : 172 Question Id : 97675532775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfaRad H T SRRTd/dHT Xeg &1 T DioTu-
Options :

1. ¥ g

2. % AR

3. % AR

4. % Dbl

Question Number : 173 Question Id : 97675532776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

freferad & O i fu U are o fo Swad g 61 98 BifoTe-
Ui aY QR - o JUded 8 g a1l 3d

Options :

1. % qof SRt
2. % gRP Sl
3. ¥ Jold St
4. % faorg SRidl




Question Number : 173 Question Id : 97675532776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmferad 7 ¥ - faT 7T I/ o fore Swjad e &1 994 Hifod-
Ui a4 QR - o JUdied 8 g ardl 3&d

Options :

1. % qof SRt
2. % gRP Sl
3. ¥ JoTd St
4. % faorg Sridl

Question Number : 174 Question Id : 97675532777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAwferRad § 9 T 7T are’r o Ty U R1eg &1 g Hifoid-
31T T TRS & fIE T I UTaah! &l gh-aTel HUST |

Options :

1. # AHHUId
2. % 9GYy

3. % qHIU
4. ¢ 3BR

Question Number : 174 Question Id : 97675532777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad & 9 foT U a1 & ol U Wieg, &1 994 Sifore-

'3TS TT RS & [o14 Y T UTAP] DI gH-drel] HIST '
Options :




Question Number : 175 Question Id : 97675532778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmferad & O fau 7T Wreg-gm & 98 o2 &1 99 Hifore-

'373’-3?3‘
Options :

1. ¢ TgHT - g1
2. % JEUS -dUR
3. % YT - 3UHR
4. % JRY - 3{d

Question Number : 175 Question Id : 97675532778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o @ fou 710 wreg-gm & wet 81 o1 g HIfTL-
|g§_§?l

Options :

1. ¥ <GH - g1
2. % JEUS -dUR
3. % YdTS - 3UHR
4. % URY - 3fd

Question Number : 176 Question Id : 97675532779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



feferRad # 3 TlfeT Teg T =a BifoTL-
Options :

1. % HITd

2. % Tl

3. % 99

4. ¢ Tdt

Question Number : 176 Question Id : 97675532779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
freferRad # 3 TlfefT Teg 1 =g BifvTL-
Options :

1. % H1d

2. % 9l

3. % oUE

4. <Gt

Question Number : 177 Question Id : 97675532780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fafad § @ HH-91 are IgaeH &1 3I3ER0T 82
Options :

1. % GoRT 9gd HiaT gl

2. TAR R FER G|

3. % I BT UG T B

4. % AETSEI

Question Number : 177 Question Id : 97675532780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frffad o @ -1 a1y Igaa- BT T8R0T 87



Options :

1. ® R 9gd HraT gl
2. ¥ TAR WYX g |
3. % figPTUS B
4. % NI W@

Question Number : 178 Question Id : 97675532781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad 7 Q S19-31 91 fRoraree 94418 37182
Options :

1. ¢ T 30 &1 WY HRAT§ |

2. % TSt Ard) I9H! 1|

3. % 98 MRI A IEaT g

4. % ggATT P PR B

Question Number : 178 Question Id : 97675532781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRId o O D19-91 a1 FsiaTae 9d-T8 &1 62
Options :

1. ¢ ¥ 30T B W HRaAT B |

2. % foNI! ATt ITHT N |

3. % 98 ITRTH @A 6|

4. % FEAIF B PR

Question Number : 179 Question Id : 97675532782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAmferiRad o ¥ i< faT 7T a9 ! Foara § uRkafad s Sugad [deed &1 Ta- ifoTg?




TSl gRT fETed B Tarel I e |
Options :

1. % ol gRT 3ferad H TTargl < Sl g |
2. % TSl & gRT 3fGTed § Targ! 4|

3. % JdTolt gRT 3(eTed H Targ! &t 15 |

4. ¢ Sareit 7 3farad | Tdre! af |

Question Number : 179 Question Id : 97675532782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=faRea o 9 i< fau U are &1 Hqare § uikafdd ax Sudad fadwed &1 99+ Sifoe?
TSN §RT SrgTad B Tarel & |

Options :

1. % Jqre gRT 3feTeld H 7aTg! < 51 38! 8
2. % FdToll & gRT ferad H TdTe! &l |

3. % JdTol gRT 3(eTad | Targ! &t T3 |

4. ¢ TSIt A 3erad H Targ! 4|

Question Number : 180 Question Id : 97675532783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffafed & T areg ek Slsdr al Sfid ST’ {6y &1d &1 82
Options :

1. % 3N~ YdbId

2. ¥ Bdedug YddId

3. % 3l Ydpbrd

4. % Y Ydbrd

Question Number : 180 Question Id : 97675532783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ffafea & T areg ek Slsdr al Sfiid ST’ fg &1d &1 82

Options :
1. % 3~ HdPplcT
2. ¥ Bdeqyg YaoId
3. % 3quf ydbTd
4. % Y YdbTd
General Hindi2
Group Number : 10
Group Id : 9767551239
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Hindi2
Section Id : 9767551693
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1

Sub-Section Id : 9767551981



Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 97675532784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad ¥ 9 ST U a1 & UHR &1 I9 Difole-

I8 HH-I1 I g fS 78 Y9Ie HwIed g &1 19 7 A1 81|
Options :

1. % IR ar

2. % fqEqEIfeays ar

3. % GYod a1

4. ¢ fog ar

Question Number : 181 Question Id : 97675532784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmrferRad & ¥ fAU 7T 910 & UDHR 61 98- HifoTe-
a8 H-91 A9 ¢ o 78 THTE $WIed G & A9 T A1 71|

Options :

1. ¥ WA dIH

2. % faTrarieslys aI
3. % YYId a1

4.« fog a1

Question Number : 182 Question Id : 97675532785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARG & A SH-91 a1 3UTGH HRS BT IGI6X 1ol 62

Options :
1. % B YD T GEd 2|




2. % TEHIGARI Gt A g 8
3. ¢ TG GYRY & IR ¢ Y|
4. % UHo ol I SXAT B |

Question Number : 182 Question Id : 97675532785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARG & A BH-91 a1 3UTGH HRS BT I&I6X 1ol 62

Options :

1. % B AAUD Q TEd B
2. % TEAT TR Pt A R B
3. ¢ G GRRY & IR & |
4. % U Pl ¥ AT R

Question Number : 183 Question Id : 97675532786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR ST Ta! Iaidl 8" 39 AT BT HIGaT ¥ H=faRgd § 9 SH-91 8 2
Options :

1. % IAIY Tl B ol |

2.« 3{IYAN Y Tl A1 S|

3. % YA IAAT ] |

4. % 3MYAN I bl g

Question Number : 183 Question Id : 97675532786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR ST o] Iaidl g 39 AT BT HIGaTH ¥ HH=Rgd § 9 HH-91 g 2
Options :

1. % 3RAIY Iad o1 ol |

2. ¢ ARAIY J Il g1 oI




3. % YA IAdT B |
4. % AT I ThdT g |

Question Number : 184 Question Id : 97675532787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafad § @ HH-u1 ooy ThdeH Ud sgde- &1 el T -8l 82
Options :

1. % 7fo — =ifaaar

2. « faeit - o

3. % yTait — yrferdl

4. % ga1-gand

Question Number : 184 Question Id : 97675532787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=ffad # § HH-91 fadwed Thder Ud 9gaa- &1 del T -8l o2
Options :

1. % grfad — rfaaar

2. Tt — o

3. % YTl — ytferl

4. % gal-gand

Question Number : 185 Question Id : 97675532788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAmferiRad © ¥ Y[ dci-1 aTel 91 &1 99 BITog-
Options :

1. % TR o foan gagman

2. % T § AT 31 9f$al US T |

3. ¢ W 8 o &1 If$ai ug i |




4. % B3 SR TSP P! garrsh|

Question Number : 185 Question Id : 97675532788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=R o ¥ < a1 aTct a1 T8 BHiforg-
Options :

1. % HY R B ford=m gagm|

2. % T H Tl &1 dfsal us TR |

3. ¢ WA Jand &1 dfeal us TR |

4. % 5 3R TSP B garai|

Question Number : 186 Question Id : 97675532789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad A T IR 919 BT I PHIToTe-

Options :

. % N ASHI PR A 9318 I R e g

2. ¢ AETH - U BT 0T EhH W B DI HeT g
3. % O g1 g5l g8, 9 R I Y|

4. % AN B BT ], I8 T B

Question Number : 186 Question Id : 97675532789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRad ¥ ¥ O 9199 &1 994 BIfoTe-

Options :

1. % Sl dShI P H 9318 a8 WIS & |

2. ¢ AEUH = Gt DI U1 TeHTd WD A DI Hel |
3. % S g1 g2l g8, 9= W =l MY

4. % AN BH AT 8, I8 T 8




Question Number : 187 Question Id : 97675532790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rrefad & 3 e 2ies g =8 &2
Options :

1. ® dghUd

2. #® H=dY

3. ® gdysl

4. ¢ o8

Question Number : 187 Question Id : 97675532790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & & HIH-91 XTeg i T a1 82
Options :

1. # dghUd

2. % HwdY

3. ® {gdysi

4. ¥ a8

Question Number : 188 Question Id : 97675532791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefeafad o § foa deifad o1 orf "alkem &1 %o srawg fiar 8 giare?
Options :

1. % BUR R Gy g1, Sigl IR M|

2. ¢ f5F gat fort Uzl TR urit Us |

3. % TR BT SN SIRTST, 3 Tid &1 G|

4. % BIER foRa™ o g1 did- urd|



Question Number : 188 Question Id : 97675532791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoRed # @ fog deifaa &1 3 alkem &1 v 3/awg fidar g gidr 82
Options :

1. % BUR R Gy -Ta1, gl IR M|

2. ¢ 5 gt foe urgal Ter Ut U |

3. % TR BT SN SIRTST, 3119 Tid &1 Rig |

4. % IR foRaM & g1 did- urd|

Question Number : 189 Question Id : 97675532792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafad § O dimifa arh o1 W I T S g7 WA BT T 31 g2
Options :

1. % 3N o U IRy 9% 1 8|

2. ® DH A S G?R'd‘élll SEIGIN

3. ¢ TRI0TTIRE GHTG |

4. % g fdd & Ga gRAT B ] |

Question Number : 189 Question Id : 97675532792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fid o 9 dipifad "t uT I 3o T S g1 HYd" &1 &7 31 82
Options :

1. % 3T & U IR 93 1 T

2. % B 9 ST 3R T8 § T

3. ¢ TRIUTTIRG TG |

4. % YRt G S II gAT B 8 |

Question Number : 190 Question Id : 97675532793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f=foiaa & 9 fog Aol &1 i rareder e 3 &Y ant +f 8R o1d 8 81 82
Options :

1. % IR AT o 3R 919 gd a1 |

2. % gHgR foRaM & 8id didh- urd|

3. % 3l § TR fear ot gIel 9 R’ S|

4.« IR TS & O 3R 9 &9 g9 3fdhal |

Question Number : 190 Question Id : 97675532793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfafed o @ frg dieifad &1 s "aThaaR et | &1 AT i SR 91 & B 82
Options :

1. % IR ST 5 3R o719 gd a|

2. % HBR foRdM & gid < UId |

3. % 3{Igeil § R fear ot gIel 9 = S|

4.« IR TS & O 3R 9 919 I 3fhdl |

Question Number : 191 Question Id : 97675532794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoiRad & @ gerart m REr g &1 31 o g2
Options :

1. ¢ ¢ ¢ T

2. % S YRS

3. % 3{bell G B

4. % YT |

Question Number : 191 Question Id : 97675532794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frferRad & I gerarT I RER g1 &1 3 3 82
Options :

1. ¢ 4G ¢ arefT|

2. % S YRS

3. % 3fbcil YaM g

4. % ST |

Question Number : 192 Question Id : 97675532795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frffad & ¥ frg qeTar &1 31 @R I 713 & T 8T 82
Options :

1. % Hp TG

2. 3 YT

3. % 373 Bl 7 HMT|

4. % 3feRT GARAT|

Question Number : 192 Question Id : 97675532795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoied o 9 for ggTak &1 i "&R J Ta & oA gl 82
Options :

1. % 3B TG

2. ¢ 3 YT

3. % 3731 ot T AT

4. % 3R URAT

Question Number : 193 Question Id : 97675532796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAferfea | O feg area A form-fomgl &1 v Tgh =18 foan g2

Options :

1. % oI g aell; forad AT reRT fazary &1 |

2. % fIBTY A HIGR ST B, TeT S9ITdT 8, YT & - Bl § 3R TR Il Sl 8|
3. % ef. e, [T fUrdT, U oy e

4.« 98, B Hgdl Tl AN 3{Hg od 33|

Question Number : 193 Question Id : 97675532796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=t o ¥ ford are o TRl &1 TR Ie! =151 ohdl 71T 82

Options :

1. % oI 9 ardl; fora T qreRT faxary &1 |

2. % 3T AT HiER e ©, el IoidT 8, HTaTH & &= Rl § 3R TR Il ST 5 |
3. % YT 3o, AT fUdn, urg- gug enfe |

4. ¥ 98, P Tgdl TgT: AN 3¢ od 3B |

Question Number : 194 Question Id : 97675532797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfafad & 9 < faw mu fomg &1 714 Farsa-

)
Options :

1. % 3darufag

2. % oy fog
3,£a%ﬁ3awmﬁ%
4. % 31 fog

Question Number : 194 Question Id : 97675532797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fAefeRed o 9 e fu 7T forg &1 =19 Jarga-

©)
Options :

1. % 3aaru g

2. % fawmafesiys fie
3_¢aﬂ‘if3?cﬂTUTﬁ|'_‘6'
4. % 3mew fag

Question Number : 195 Question Id : 97675532798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fawedl & ¥ Iudad faswey &1 997 SHifor-
faaTfeay® Ut URAdas aidd| &) BISHR Udd alad & AT 84 IR e &1 yanT fosan SITaT B |

Options :

1. % g™ fag
2. % 3fcufdR™ g
3. % AragiaR fag

4. qoffR g

Question Number : 195 Question Id : 97675532798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T fasmedl ® @ U fadhed &1 99 Bifere-

fowafeaiys TUT URAaAS aTdl &l DISH IS dIdd & JHIE 8- IR g ST U fPar ST B |

Options :

1. % JgioR™ g
2. % iR fog

3. ® TYafaR{ g




4. ¢ QUifoR™ g

Sub-Section Number : 2
Sub-Section Id : 9767551982
Question Shuffling Allowed : Yes

Question Id : 97675532799 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

T 1T IR T SATYAD ST B Tl P IR Glfort-

S{TH STGH UTCT (31T THIRSIS BRG] Ud faca! o iad G 3RIdE doRiard Ud S gk & Aiburd Mg 3 98 9gd 4
eIl gRI T3 d U HRTT IATI{cTeD Gl & | SITH SHTEH! UTCT & T3 P SATRIBTIRD TN 26 FIWR 2012 B HRAT Hiaym sifafam
DI 6391 THG & TR W ek HaR, feeat & g AT T 2011 F &1 3 HRRA A0S TS A 331 GoIR & -1gcd J §U S aidbura
S{TEITH & SR HRAIT ASHITdd Gall gRT SIHRd PI SUET & RITw AT 3378 | 331 YFTER faR1ef SHaiemUTd fiaies &1 Ae-id 3
3T XTHT ATEd ¥, STafh 3RS poriard 3R 3% Tgdiial &1 g8 X dt 7o urdf s 1a a1 9l | 33t 3e=4 & dgd ure! ugall
IR 2013 H oot AUy gAma & 218 16 g o 1 g1d! HaM & Sakt | uret A et faumayT gma & 28 diel IR oiid g9l &1 3R
3O fAUTad & BT AT 3R doRiaid & g1 off 28 faTwaR, 2013 P faeeh & ATdd G a1

U1éf & IR T ToIUST Y- S Al aTd [d9gdh AN BRI, IS¢ ¢ RabIdl: g gU SH-UTAHIR™A! &I arad A &1 e R, Age ¢ Rolae:
THRA BT AABR T ISHITD [dh- DR |

2013 & faeett faUmaT gAmal & o1l & daioieh 3Rfde Horiard - =15 faeat Aie d IH1d AST STgi 3! Wit Tahx AAR 15 I1d 9
feceht ot g fier <iféa ¥ &t IR 78 oo faumayr e I oF IR & geds 2fiar S &1 22 89R Jdl 3 8T JixE 9
QTS BT 3R JraTfore erdddl § AT §7 SRfde FHoRiard of 3y e uref 3 ot ot Iorifa & ymrheR wawr faar|
3119 HTeH! urdt A 70 YR feeet! fFaUm—HT g H 28 WIS Siidex U= B ISHiTd H Tefsiel! 72 31 | $9 g-1d § STH 3MeH! urct
HRATT ST U1 & a1 gO-) Jad da! UTef SR SH | TRee Sy urd Rtk 10 e des R - W fRages mift

fEelt faem QU gA1d 2015, 7 HRART 2015 BT ST U SR TRUMH 10 WRaRT 2015 HI G favan 71| I8 gA1a feeett & 70 faumrayt
el IR aST T | 3RfdE dhoRIard & Aga H 317 TGH! Uref = 70 H A RBIS 67 Wi Siid HR URI 9gHd g1d [haT| 14 BRas! 2015 BT d
QIER] et & JeE Ug UR ST §UI 39 g1 # HRAId ST Ui had 3 Hie Siid UTs 3R HRdId IS S99 &1 @rdr Hi 751 ger|

Sub questions

Question Number : 196 Question Id : 97675532800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR T & TR SHTH SHTGH! TTeT (310) & IR T3 Toivs! A FAfaied o ¥ & -1 nfid =gt r

Options :



1. % S diburd f[a8des ] =

2. % 3¢ ¢ Rpla: g gUTH-UfAMINT &1 9o e &1 ISR |
3. % 3¢ ¢ Rolde: THRA o1 YBR|

4. ¢ 8¢ ¢ {&ATS: ANH &1 3fUBR|

Question Number : 197 Question Id : 97675532801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fefifed & 9 SH-31 “sfigid 1 waigare 2eg Ta g2
Options :

1. ¢ Tifd

2. % &Y

3. % ohifd

4. % 3

Question Number : 198 Question Id : 97675532802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fRed o @ SR T & LS BT 98- Pifod-
Options :

1. ® SABUTS e |

2. ¥ 3 3TGH! UTe B} ol Td RIS YB3Td |
3. % 331 3 PR AHS AT |

4. % 370 U1l &1 fae=r g1 -1d 2013 |

Question Number : 199 Question Id : 97675532803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR T & e & fFrAfafad § ¥ SH-91 Hy= 98 781 82

Options :

1. % Tl fQUMIYT g1 2015, 7 THRERT 2015 BT TSI U 3R TRUMH 10 HRaAX! 2015 &1 G foedd T 3|

2. % 3T YR RN Sl uTe 3fice &I IeHitd A 3T a1 ITgd o, Tdfdh 3RfA< boRiard 3R 395 Jgdiita o1 I o fh




Ot SR 19 @81 9|
3. ¢ 3Rfdg HoRidred BaR! 2013 Bl IR few! & JEIHA! U TR RIH gU

%;ﬂ;ﬂggﬂgﬁﬁ%ﬁﬁ&W@Tﬂwm%WzmzﬂﬁWﬂﬁW&Wﬂﬁ&ﬁ&W%WWﬁﬂ?W,
|

Question Number : 200 Question Id : 97675532804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SURIG TR & TR 2013 H et faemaqun gma § S-3 uref JiR ®iH w @ o
Options :

1. ¢ YR AP B

2. % YR Sfar aréf

3. % 319 31w uret

4. % gHTSATE! uref

Question Id : 97675532799 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

faQ TTU TR BT SFYd S g R U B IR HfTE-

3{TH JTGH UICT (3MT4) THIRSS Hridhdl Ud fieel o iad TR 3RIdE doRiard Ud 3 g9k & Aidburd figia 3 Je 9gd 4
eIl GRS Teb R ST e & | 3MTH SMTeH! UIcl o T3 I SATRIDBIRS TN 26 TawR 2012 I HRAIF HfaLr Sffefgs
T 6391 TUIS B TR W SR A, foeah d g3 A1 T 2011 F 31 3 SR ATHS TS A 31 TOIR & -gd § gY o aidburd
3{TGIeH & SR HRAIT SIS Gl gRT SHed Pt SU&T & RadTth ATl 3675 | 331 YFER faRieh SHaidard Siaie ! IoHifd 9
3T ITAT e &, Safh 3RfA< HoRiard 3R 3% Jeaifal &1 g8 g ot 1 urdf s g9 a1 9l | 33t 320 & dgd urdf ugell
IR 2013 ¥ et faem= ey g1a o e 91a forg & A1y gATdt Haq & It | a1 = feeah faumedn gama & 28 diel R Sitd gt @ 8RR
3G faeTred gd BT AdT 3Rfde Horidrd &) g1 Sl 28 faTwR, 2013 & el & Trdd Trogw= 7|

g7} & IR T TolUST U- o9 A uTd [A84gdh A &I, JI8C ¢ Rbid: I gU oH-UiaHT &1 Ay ga &1 ISR, s ¢ RKoae:
THRA BT HUBR Td oD [db-<nmrun|

2013 & el faUmaHT gAma § O1ef & daioieh sRfde doriard A -1 faeet Aie J g9 AST STgi 3! Wit ¢adx AdR 15 I1d 9
feeelt ot g <fien fifea @ ot 3% 78 e fauray e I 9 IR &t gers <har Siférd & 22 89R Adl 3 gX[ | Tag 3
IS BRIl SR AT BRAG A AoHIT0T 9 3RIAG BoRIard B SHTH TEH Uret A foea & o J 4HbeR Yasl |
3{TH TEH UTet 7 70 Yo feeah UMyt gAmd § 28 T SidmR U= &1 IorHiid H Fase a1 af | 39 g1 & 3HTH TeH uref




YR ST UTe] & a1 geRl 9ay gat UTe] §dR ST | JaReg HIUg Ure! Rt 10 i dax dRR M R fags Tt

fEet faum™ T TG 2015, 7 TRART 2015 B AT §T SR IROMH 10 BRA<T 2015 DI G a1 7T T8 TG faedt & 70 eyt

et IR aST T | 3RfdE doRIard & g W 37 TGH! Ure = 70 T ¥ RB1S 67 WIS Siid HR HRI 9gHd g1d [haT| 14 BRas! 2015 BT d
AR faeett & gl ug W SRfA U1 39 g1 | YR SIa1 Uref dhae 3 Hie Sfid Urs iR HRdAR AP S &1 @rdl 4 Tat g

Sub questions

Question Number : 196 Question Id : 97675532800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TR & TR SHTH SHTH! UTeT (3170) & IR 3 Toivs! A FAAfeiead o § o H-91 2nfid =gt ur
Options :

1. % S AlhUTd fa8ddh ARL AT

2. % 3¢ ¢ RbId: I gUSH-UAFTITT &1 a1ud g &l SUDHR |

3. % 3M3C ¢ Rolge: THRA &1 UBR|

4. ¥ 1gc ¢ SHTS: A &1 3fYHR|

Question Number : 197 Question Id : 97675532801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrefaRed # 9 -1 “sifcier o1 waiaar g 781 52
Options :

1. ¢ ifd

2. % S&NH

3. % ohifd

4. % 3R

Question Number : 198 Question Id : 97675532802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i o O IIRYed TRIiRT & NS BT T BIoT-

Options :

1. % SABUTS 3fiera|



2. ¥ 3 3TGH! UTe B} o Td RIS YB31d |
3. % 3T 3T PRWH AHS W3]
4. % 39 UTE BT [AYTRHT A1G 2013 |

Question Number : 199 Question Id : 97675532803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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